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Problem Satement

After completed the project, we deliver it to oustomers. The customers are very
satisfied with our works. The customers have mtedius 500 hours to complete the
project and we have used it for the project thdivelethe product. Now the customers
tell us, they will provide us an additional 500 h®to provide them with a step by step
instruction on how we have accomplished our wotksaddition to that, the customers
also tell us additional hours will be allocated g@mdvided upon requested. The customer
also tell us when we are done, we need to deliveloaumentations necessary related to
what we have done and provide a presentation ofvotk where questions can be asked
about how we have developed the product.

Let's take another look of the paragraph above s@an understand it better. Our
customers have provided us some hours to devgbopdact for them. We have used
those hours to develop the product. We have dpedlthe product and tested it, then
verified everything is working accordingly, and nheeliver it to the customers. The
customers are very satisfied with what we have dané then tell us they will allocate
and provide us much more hours to tell them hovhaxee put that product together.
What do we mean by that? We have agreed withus®mers to provide them with step
by step instructions or set of principles used ow lwe have come up with the solution
or develop that product.

Again, let’s take another look of the same pardgrafvhile the customer tells us they
will provides us additional times, which mean reses to provide them with some set of
principles on how we have come up with that sofutio develop that product, they did
not need to tell us that after we deliver the petdhey could have told us that in front.
Since they provide resources to develop the prathattis not a problem at all, the
problem still remain the same. We need to prosm®ae set of principles to the
customers on how we have developed the product. clistomers could have told us at
the beginning, upon we deliver the product; we aksed to deliver all the documentation
and provides all set of principles that we haveluseaccomplished what we have done.
Again, this is the problem that needs to be solwaf need to show the principles that
we used to develop the product and how we have thesé principles to come up with
that product. That is the problem that needs tedbeed here and it remains our
problem.

To better understand the overall problem that néete solved, it is better to take it this.
While we use the word customer and product herg tite same as looking at the overall
problem with the inclusion of both entities. Theerall problem that needs to be solved
is that, we have done something, we need to praodee set of principles we use to
develop them and how we used them. We have dex@lapd application, we need to
show some set of principles we have used to comeithigthat application and how we
have used them. This is basically the problemrlatls to be solved and it is always
good to take it that way.
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| ntroduction

In the communication domain, we model our applaratelated to communication, while
in theory domain we model our application relatethieory. What we mean by that, in
the communication domain, our application is a fiomcof our communication; while in
theory domain the function produced by our appiicais a result of us applying theory.
We can also say in the theory domain, the fungtimauced by our application is a result
of principles that we use to derive an instrumaat produce that function.

The communication domain enables us to model gplicgtion in a communication
approach. What do we mean by a communication appfo We mean that we model
our application by our communication. It is vemyportant to understand the difference
between the communication domain and the theoryattemn the communication
domain, our communication is visible. To bettedemstand the difference between the
communication domain and the theory domain, itwsags good to look at the physical
system and have a very good understanding of hatWwe mean by difference, we mean
difference in term of mode or mode of operatiore physical system is related to two
domains or two modes or two modes of operation. céfesay theory mode or theory
domain. We can also say communication mode or agmgation domain. By
understanding what we have said previously, wesearthat the communication domain
is related to the external visibility of the phyaisystem, while the theory domain is
related to internal visibility. In this case, wancsay that the theory domain works
internally and it is not visible externally. Thsswhat we mean by that, the theory
domain works with set of principles. Principles awvisible entity outside the person
who they are visible of. In other words, a prireis only visible to a person, if that
person understands that principle. We already knibnat theory are hidden elements of
communication. They are not visible until they anelerstood. This is a quick way to
look at it, while in communication domain a persam talk to another person about
executing a function; however the execution of thattion always depends on that
person internally. From what we said, we can Baeds the communication domain is
important for the physical system, the theory domsialso very important for the
system. Since one can talk to each other abowuérg a function and that function is
not actually executed until it is personally execlby that person, it is very important to
understand that the theory domain modeling provedesgchanism, where the functions
that are executed are related to people who invaltiee project personally and
individually. We can also say that the theory dom@aables us to model our project
related to the way we think about principles thatlearn. In the theory domain, we
model our projects related to the principles thatl@arn and the way we think about
those principles. It is very important to undemstahat.

As in the communication domain, we have used diragcamodel our application. We
call each diagram entity that we connect togethahbw the flow of our communication
related to the function of the communication arelgbople who involved the
communication related to the project. The themmdin model provides us similar
mechanism, where we can connect entities togedhmiotel our project related to
application of theory by the people who involvedhe project.
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Since the function that we execute in life depesrdsis applying theory, the theory
domain model can be used to model any applicatir.instance, we use the theory
domain model to show an instrument that we deviapproduces a function. It can
also be used to model services, which are basittaligtions that we add to life, but those
functions may not be executed by instruments tleatigrive explicitly. Related to the
communication domain, an organization can alsahes¢heory domain model to show
how it is organized.

This tuterialprovides us with instructions about how to usgdiens which we call
entities to model our application or what we deéhie theory domain. It assumes that we
already have a good understanding of theory. msiance, the usage of this-tutorial
assumes thd&tundamental of Communication is well understood and various exercises
have been worked out. Given that the entitiesasgt by the diagrams are not
application specific, the objective of thistutdiignot to connect the entities for us.
Depend on our applications; we need to connecowur entities together accordingly.
Although the entities provide us with the simplydib analyze or model our application
in the theory domain, however it does not carryaeight in terms of error analysis and
correction. Error analysis and correction depemmdhow well we understand and apply
theory, but neither on the entity nor the modelitigive have a good understanding of a
theory and apply it positively, we expect a positresult. As well as, if we don’t have a
clue about a theory, we don’t expect any positesutt about the application of that
theory. It is very important to understand th@he result of our application depends on
us and how well we understand the principle. Wiwéecan use a computer to model our
application in the theory domain, however we cao aise this-tuteridb represent a
visual aspect of our application in theory domairacdrawing board or a piece of paper.
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Under standing the Theory Domain

The theory domain enables us to model our appticatlated to what we think. What
we mean related to what we think? We mean thahagel our application related to

our understanding and the usage of the principlaswe learn. We can also say that we
use the theory domain to show how we do what werdmr work. In communication
domain, we model our application related to whatsee or say, while in theory domain
we model our application related to what we thiiike similarity between the
communication domain and the theory domain is thatcommunication domain tells us
what we do, while the theory domain tells us howdwet. The communication domain
tells us what we do, based on communication. Mberyy domain tells us how we do
what we do, based on principles that we apply td.did makes sense to understand both
the communication domain and the theory domaimce&ie are communication enabled
and associative, this characteristic enables uwot& together and do what we do relate
to communication. For instance, we can communitate our work. In the other hand,
since we are theory dependable and self contrellaalch of us need to apply theory
individually to do what we do. So by understanakthve can see that there is a need to
model our application in both theory domain and oamication domain. It is very
important to understand the way we have descrileegl. h

To better understand the communication domain hedhteory domain, we can take it
like this. The communication domain tells us wivatdo, while the theory domain tells
us how we do it. We can also say that the theomgadn is what enables us to do what
we do. This is the same as how we do what weliéhe communication domain, our
communication drives our application, while in thedomain our ideas drive our
application. We can also say that in the theomao, the ideas we get from theory or
the application of the principles drive our appiica. In communication domain, we
work with our communications, while in theory domare work with our ideas. We can
also say that in the communication domain we watk wur communication, while in
theory domain we work with our ideas that we getfitheory or application of the
principles. By understand our constant charadieriwe can also say that in
communication domain, communication enables utaitat we do. While in the
theory domain, we depend on our ideas we get freary to do what we do. We can
also say that in the communication domain, we ¢alkommunicate about what we do,
while in theory domain, we think about what we dio.this case we can see that in the
communication domain what we do is a function af @mmunication, while in the
theory domain what we do is a function of what hiek.

Theories are hidden from us and we can only idetiiém if we understand them. If we
know or understand a theory or a theorem, we cartthsd theory or theorem is visible to
us, in the other hand, if we don’t know a theoryheorem, we can say that theory is not
visible to us.

We use theory to execute functions of life. If welerstand a theory and apply that

theory positively, then we expect a positive reséls well as, if we misunderstand a
theory and apply that theory negatively, we produaulty function. From what we
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have jus said, we can see that we think accorditmgbpme set of principles to enable us
to execute functions of life. We can also see ttmaflow of the principles from us

enable us to execute functions of life. For ins&rtheory gives us ideas to executive
functions of life. The ideas that we get from adty depends on how we understand and
apply that theory. As shown below, we use thergoes or the green token to denote the
flow of positive application of theory, while weeuthe red dot or the red token to show
the flow of our negative ideas or simply negatitdgsophy. The table below provides
more information about the positive flow of theamyd the flow of negative philosophies.

Signals Type Explanation

The positive application of a theory, this Is
the same as saying that positive applicatjon
of theorems. The positive flow of
theorems.

The negative application of a theory, the
flow of negative philosophies, application

of negative philosophies

As shown by the table above, there are two typasgofls send by the application of
theory. The green signal is used to show the ipediow of a theory application related
to a function execution. While the red signalsedi to show the negative flow of a
theory application related to a function executiémthis case, we can also say that the
red token is used to show the flow of negative sdedated to function execution. From
the same table above, we can see that if we apiplgiples positively, we get possible
result as well as if we apply them negatively wergggative result. In the other hand,
negative philosophies enable us to derive and ¢&daulty functions. All signals flow
from the theory itself which is a separate entithated to the application of that theory by
the physical system. It is very important to uistiend that. Since a theory is a separate
entity and the physical system get ideas from ghemexecute functions, the results of
those functions are related to the flow of thosagifrom the theory to the physical
system itself. We use green or positive to detteagoositive application of theory, while
we use red or negative to denote the negativecgtigh of theory. We also use positive
to denote the positive application of a theory while use negative to show the
application of our philosophies.

Entity Identification Section

In this section, we identify all the entities tlaaé used to model our application in theory
domain.

The Left and Right Signals Path

>
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Description
The left and the right signal path are used to sti@rflow of our ideas. They can also
be rotate to relate to the specific entity theyrmmwt to.

Available Option
Available options for the signals path include

* Leftarrow

* Right arrow
» Left signal

* Right signal
* Etc.

The Physical System Entity

System, human, person, people, person name

Description

The physical system entity simply represents agrerdVe can also say the physical
system entity represents a person that can appbyyh The person entity represents the
physical system.

Usage

The person entity can be connected to the appltyeatshow the application of a theory
by the physical system. It can also be connedeohy other entity that it can be used
with. For instance, the person entity can be cotateto the theory entity to show that
theory gives ideas to the physical system.

Available Option
Available options for the person entity include

* Person
* People
» Person entity
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* Physical system

e Person name

* |, Me, You, He/She, Him/Her

e Person name

e Human

* Employee, employee name, employee with index

» System with index or number like System 1, Systeet@
* Person with index like Person 1, Person 2, etc.

S with index or number lik§, S,, etc.

« P with index or number likE, B, etc.
* X with index or number likex , X,, etc.
+ Etc.

The Communication Theory Entity

Communication

KT Theory

Description

Communication is common among us, So communicdtieary is considered to be
constant among theory. We use communication th@ocgnjunction with theory to do
what we do. Although the communication theorytgntiay not appear within a model,
however is already being a part of it. If we domdnt, the communication theory may
not appear within our application model.

Usage

We use the communication theory entity in conjwrcivith other theory entity to show
how we execute or apply specific theory or theor&imce theory communication is a
part of all theories, it manages the executionaf itheories are applied to result to
specific function. The result of specific theoiways depends on theory
communication. The table below shows the resultlzdt we do related to the
application of theory of communication. Both oéttables below are the same.

Communication Application of Result or Output

Theory Communication Theory
Green Green Green
Green Red Red
Red Red Red
Ky Tr{K;} u(t)

Green Green Green

Green Red Red
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Red \ Red \ Red

Available Option
Available options for the theory of communicatioclude:

* The Communication theory

* The theory of communication

» The given set of communication principles
» The principles of communication

* The given communication principles

* Etc.

The Power Theorem Entity

P Power Theorem
>

Description
Refer to the power theorem and power definitiomfanore information about the power
theorem

Available Option
Available options for the power theorem include:
* The power theorem
* The power theorem entity
* The given set of power principles
» The given power principles

« Etc.
The Education Theory Entity
E Education Theory
-
Description

Education is the process of learning and applyiegty. Rather than using the word
education by itself, it is always better to retes theory of education. Basically, theory
of education is the process of learning an applitre@ry. Theory of education is
considered to be a set of theory. Unlike the otheories, the theory of education is a set
of theory. The theory of education includes otheory, so it can expand to show those
theories. Refer to the entity usage section forenmaformation about the theory of
education entity.
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Available Option
Available options for the theory of education ira#u

» Education theory

* The education theory entity

* The education theory

* The theory of education

» The given set of education principles
» The principles of education

* Etc.

The Instrumentation Theory Entity

Instrumentation
- Theory

Description
The instrumentation theory entity is the set ohpiples that tell us how to use
instruments. Those instruments include both nhaind non natural.

Usage

We use the instrumentation theory entity to show lmuse our instruments to derive
and execute functions of life. The table belowvghthe result of what we do related to
the application of instrumentation theory.

I nstrumentation Application of Result or Output
Theory I nstrumentation Theory
Green Green Green
Green Red Red
Red Red Red
- Tr{l;} u(t)
Green Green Green
Green Red Red
Red Red Red

Available Option
Available options for the instrumentation theoryignnclude:

* Instrumentation theory

* The instrumentation theory

* The instrumentation theory entity

» The set of instrumentation principles
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* Instrumentation principles

* The principles of instruments

» The given set of instrument principles

» The given set of instrumentation principles
* Etc.

The Information Theory Entity

i Information Theory
-

Description

The information theory is the set of principlesttivanage the flow of information.

Since we interface together through communicatmhraot everything that flow inside
our communication link is considered to be inforimatinformation theory is the set of
principles that is used to validate or manage lihe bf information that flow between us.

Usage

The information theory entity is used to show tkeaaition of the flow of information.
The table below provides more information abouttwira do related to the application of
information theory.

Information Application of Result or Output
Theory I nformation Theory
Green Green Green
Green Red Red
Red Red Red
i ;
T Tr{i-} u(t)
Green Green Green
Green Red Red
Red Red Red

Available Option
Available options for the information theory inckid
* The information theory
* The information theory entity
» The given set of information principles
* The set of information principles
* Information theory
* Information principles
* Etc.
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The Marketing Theory Entity

M . Marketing Theory

Description

The theory of marketing is the set of principlesttimanage the process of providing
information about goods and services. We cansdygdhat the theory of marketing is
the set of principles that is used to provide infation about functions that we add to
life.

Usage

We use the theory of marketing entity to marketgawds and services; for instance after
deriving an instrument, we then use the theory afketing to make other people aware
of that instrument so it can be useful to them. dAle use the theory of marketing entity
to provide information to other people about go@#syices, instruments, and functions
that we add to life. The table below shows theltesf what we do related to the
application of the theory of marketing entity.

Theory of Marketing Application of Result or Output
Theory of Marketing
Green Green Green
Green Red Red
Red Red Red

M; Tr{ MT} u(t)

Green Green Green

Green Red Red
Red Red Red

Available Option
Available options for the theory of marketing indéu
* Marketing theory
* Theory of marketing
» Marketing theory entity
* The theory of marketing
» Set of marketing principle
* The given set of marketing principle
» Marketing principles
* Principles of marketing
» The principles of marketing
* Etc.
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The Exchange System Theory Entity

Exchange System
Es; Theory

Description

The exchange system theory enables us to exchargks @nd services in life. Since
everything that we need to live does not locatuatresidence, the exchange system
theory entity is needed to enable us to exchangdgyand services together.

Usage

After deriving an instrument or adding a servicdifey we would need to use the
exchange system theory entity to enable us to exgehthe instrument and the service.
In our application, we can use the exchange sy#tenry to exchange goods and
services that we produce in life. The table bedtmws the result of the application of
the exchange system theory.

Exchange System Application of Result or Output
Theory Exchange System Theory
Green Green Green
Green Red Red
Red Red Red
Es Tr{ Es} u(t)
Green Green Green
Green Red Red
Red Red Red

Available Option
Available options for the exchange system theociuite:
* The exchange system theory
* Exchange system principles
» The exchange system theory entity
» The set of given exchange principles
» The exchange principles
* Principles of exchange
* Etc.

The Gaming Theory Entity
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Gaming Theory

G,

Description

The gaming theory is the set of principles thatobmas to execute neutral function in
life. Since most existing functions cannot be dated, the gaming theory enables us to
simulate some functions that do not enable thetfomal system to function abnormal.

Usage

We use the gaming theory to execute functionsatenot harmful to each other. In
other words, we can use the gaming theory to egdauattions that do not enable the
overall system to function abnormal. We can afspthat we use the gaming theory to
derive and execute neutral functions of life. Tdiaes below show the result of the
gaming theory related to the application of the ig@ntheory.

Gaming theory Application of Result or Output
The Gaming Theory
Green Green Green
Green Red Red
Red Red Red

G Tr{G;] u(t)

Green Green Green

Green Red Red
Red Red Red

Available Option
Available options for the gaming theory include:
» The gaming theory
* The gaming theory entity
* The gaming set of principles
* The given set of gaming principles
» Gaming principles
* The principles of gaming
* Etc.

The Work Theory Entity

Work Theo
WT Iy
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Description

The work theory is the set of principles that eraltb interact and work together. Since
we interact together to execute functions of life work theory enables us to manage
our interaction to derive and execute functionifef

Usage

We use the work theory to execute and derive fanstdf life. The work theory enables
to manage functions that we add to life. The télelew shows the result of our
application of the work theory.

Work theory Application of Result or Output
TheWork Theory
Green Green Green
Green Red Red
Red Red Red
We Triw] u(t)
Green Green Green
Green Red Red
Red Red Red

Available Option
Available options for the work theory include:
* The work theory entity
*  Work theory
* The theory of work
* The given set of work principles
* The work principles
* The principles of work
* Etc.

The Reproduction Theory Entity

Reproduction

X; Theory

Description

Given that the functional system is associativergtme we interact, there are
principles that manager that interaction. Sinfaié an associative system, every time
we interact, there are given set of principles thahage that interaction.

Usage
See the description above for more information
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Available Option
Available options for the reproduction theory irau
» The reproduction theory
* The reproduction theory entity
» The given set of reproduction principles
* The reproduction principles
* Reproduction principles
* Principles of reproduction
» The principles of reproduction
* Etc.

Our Utilization Theory Entity

Utilization Theory

U;

Description
Our utilization theoerT is the set of the given theory. Our utilizatibeadry

UT includes all the 10 theories we have mentionedipusly. The diagram below

shows the expansion of our utilization theloky .

Order Theory Name Abbreviation
1 The Communication Theory KT
2 The Information Theory -
3 The Instrumentation Theory IT
4 The Power Theorem PT
5 The Theory of Education E_I_
6 The Theory of Marketing |\/|T
7 The Exchange System Theory Esr
8 The Gaming Theory GT
9 The Work Theory \NI'
10 The Theory of Reproduction XT
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Our Utilization Theory

Our Utilization Theory Communication Theory T
Communication Theory KT
Information Theory
Information Theory iT
Instrumentation Theory
Instrumentation Theory IT
Power Theorem
Power Theorem F')I'
Education Theory Education Theory E
=
Marketing Theory Marketing Theory M,
Exchange System Theory Exchange System Theory ESr
Gaming Th q
aming Hheory Gaming Theory G
Work Theory \Nr
Work Theory
Reproduction Theory XT
Reproduction Theory

Since a theory is expandable, each theory in alization theory is also expandable. In
this case, we can show the diagram of our utiliwatheory as set of theorem or
principles. The diagram below shows our utilizatibeory includes theorems or

principles.
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Our Utilization Theory T Our Utilization Theory
Theorem 1 Thl. Principle 1
Theorem 2 Thz Principle 2
Theorem 3 Tr% Principle 3
Theorem 4 Th4 Principle 4
Theorem 5 Ths Principle 5
Theorem 6 Th6 Principle 6
Theorem 7 Th7 Principle 7
Theorem 7 Tl’b Principle 8
Theorem 7 Trb Principle 9

; : ;
Usage

We use our utilization theory to derive and exedutetions of life. The result of those
functions depends how we understand and applyh#wy. Every time we interact,
there is a set of principles that is used to marlaggeinteraction; every time we interact,
there is a set of principle that must be used toaga that interaction. Our utilization
theory contains the sets of principles that enabl® mange our interactions. The table
below shows the result of our functions dependbaw we apply our utilization theory.

Utilization Theory Application of Result or Output
The Utilization Theory
Green Green Green
Green Red Red
Red Red Red

U; Tr {UT} u(t)

Green Green Green

Green Red Red
Red Red Red

Available Option
Available options for our utilization theory incled

e Our Utilization theory
* The given set
* The given set of theory
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.UT

» The given set of our parent principles
» The given set of principles

* The given theory

* The given theories

* Our utilization theory entity

» Our given set of principles

» Our functional set of principles

* The functional system principles

* The principle

* Etc.

The Theory Entity

T Theory

Usage and Description

We use the theory entity to represent a set otjplies. Usually we can use the theory
entity to represent a set of principles that isinoluded in our utilization theory to some
extent. The table below shows the result of whatie related to the application of the
theory entity.

Theory Application of Theory Result or Output
Green Green Green
Green Red Red

Red Red Red
T Tr {T} u(t)

Green Green Green

Green Red Red
Red Red Red

We can use the theory entity below to show a theatty index. The worehumber in
italic shows at the end of the word theory canmeraumber like 1, 2, 3 etc.

T, Theory Number

Available Option
Available options for the theory entity include:
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* Theory

* Theory entity

» Set of principles
* Set of instruction

* Principles
* Instructions
 Etc.

The Theory Transformation Entity

T}

Description

Apply

The apply theory entity is used to show the appboeof a theory. We can also say that
the theory transformation or apply theory entitysed to show the application or

theorems from a theory.

Usage

We use the theory transformation entity to showahyalication of theorems from a
theory. This entity can be used to apply seletitedrems from a theory to derive or
execute a function. This entity can be conneateastiter entity to show the application
of theory and the person who is applying the thefer to the entity usage section for
more information. The table below shows the resthe apply theory entity.

Theory Apply Theory Result or Output
Green Green Green
Green Red Red

Red Red Red
T Tr {T} u(t)

Green Green Green

Green Red Red
Red Red Red

Available Option

Available options for the apply theory entity ind&u

* Theory transformation
* The apply theory entity
* The theory application entity

* The theory transformation entity

* Theory transformation

 Etc.
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The Relationship Entity

@ @

Usage & Description
The relationship entities above can be used to gshewelationship and the similarity
between two entities.

The Negative Philosophy Entity

Philosophy

Description and Usage

The negative philosophy or simply philosophy isduseshow an idea without a basis or
baseline. The negative philosophy or simply plufiisy entity is used to show negative
ideas, which are simply ideas without basis or &medntal. Several of those entities can
be packed together to show multiple negative idddsey can also be associated with
people to show who generate them or inherit them;tse entity usage function for more
information.

Since the physical system is theory dependeniivdys needs theory to maintain its
functionality or stability. In the event that ttieeory that enables the system to function
is disregarded by the system, the system would teeezly on its own ideas which are
not related to the functional principle, since thiectional principle is being disregarded.
When that happens, all the principles that belonttpé¢ functional principles of the
system are being looked negatively by the syst€&his process can be regarded as
disregarding the existing functional principlesioé system. Whenever the functional
principles are being disregarded, the system relieiss own set of ideas which is the
opposite of the functional system principles. 8ittwose set of ideas enable the system to
execute functions negatively, in this case we sjmugk the negative sign with theory or
theorem to show them. Below we use the theorytlaadheorem entity with negative
sign to show negative ideas or negative philosaph#d| of our given theories can be
represented with negative sign to show negativasde

T T ~Th Th

The table below shows the result of applying negaphilosophy related to the negative
philosophy itself.
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Philosophy Application of Philosophy Result or Output
Red Red Red
T Tr {‘T} u(t)
Red Red Red
Th Tr {T_h} u(t)
Red Red Red

Available Option
Available options for the negative philosophy gntitclude:
» Philosophy
* Negative philosophy
* Negative ideas
* Philosophy with index or number like PhilosophyPhjlosophy 2 etc.
* Any theory name with negative sign in front
* Any theory name with bar on top
* Ph with index or number like RhPh, etc.

. :T
e T
 Etc.

The System Entity

S | | System

Usage and Description

The system entity is used to represent the physysaém. While it can be used to
represent an instrument, but it is always bettersethe instrument entity to represent an
instrument instead. The system entity can be adeddo other entities. For instance,
the system entity can be connected to the appityeatshow that a theory is being
applied by the system; see the entity usage sefdranore information.

Available Option

Available options for the system entity include:
* Physical system
* System
* Person
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* People
* Person with index or number like Person 1, Persett2
» System with index or number like System 1, Systesic2

« S with index or number Iik&‘i, SZ etc.
 Etc.

The Fundamental of Theory Entity

Fundamental of
f T Theory

Usage and Description

The fundamental of theory entity can be used tovsthe basis of a theory. We can also
say that the fundamental of theory entity is useshiow the baseline of a theory. We
already know that in order for an entity to be ¢desed as a theory, it must have a
fundamental or basis. A theory does not existouithts fundamental. There is no
theory without a fundamental; below is a list af fandamental of our utilization theory.

Fundamental of
fKT Communication Theory

Fundamental of The

fPT Power Theorem
f Fundamental of
Er Education Theory

Fundamental of
1:i Information Theory

Fundamental of
1:| Instrumentation Theory
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Fundamental of The
fMT Theory of Marketing
Fundamental of The
fESr Exchange System Theory
; Fundamental of The
G, Gaming Theory
Fundamental of The
fWr Work Theory
Fundamental of The
1:)(T Reproduction Theory

Since our utilization theory is a set of theoryniist have its own fundamental as well.
We use the entity diagram below to show the fundaai@f our utilization theory.

Fundamental of Our
fUT Utilization Theory

Since we can use theory with index, it makes s@rsgs as well to show them with their
own fundamentals with indices. We can use thedurehtal of theory with index to
show the fundamental of a theory that we use witex. The worechumber shows in
italic below can be any number like 1, 2, 3 etc.

Fundamental of
an Theory Number

Available Option
Available options for fundamental of theory include

* Fundamental of theory
* Fundamental of theory entity
» Basis of theory
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» Baseline of theory

* Foundation of theory

* Roots of theory

* F “sub” theory name

» Fundamental of theory name with number like 1, tc3
* Etc.

The Theorem Entity

Theorem Some Types of
Th Theorems

Usage and Description

The theorem entity is used to show a theorem fraheary. The theorem entity can be
used with other entity like theory, person, applgdry entity etc. When using with apply
entity, the result depends on how the theoremyeistibeing applied. The tables below
show the result of the theorem entity related &dahplication.

Theorem Apply Theorem Result or Output
Green Green Green
Green Red Red

Red Red Red
Th Tr{Th} u(t)
Green Green Green
Green Red Red
Red Red Red

Available Option
Available options for the theorem entity include:
* Theorem
* Principle
* Theorem entity
* Principle entity
* Instruction
* Some types of theorems
* Theorem with number
* Theorem with subscript number
* Some theorems
* Etc.

Theory and Theorem at a Given Time

www.speaklogic.org Copyright © 2011The Speak Logic Project 31




While it may not be important, but if necessary,c&e use this form to show theory
presented at specific time and theorem given atisp&ame. While we show the time at
the bottom in the third column, we can also shoanithe side, for instance the right
side; it does not matter.

Theory Presented at Specific Time Theorem Given at Specific Time
A T
tn I‘!I'tn
A Th
\ / \ /
N e
tn tO

For instanceA'Llis theory presented i{ the same asA"t is theory presented 511.
4

Tl’ﬂto is theorem given ;.

The Method Entity

M Method

Usage and Description

The method entity is used to show a natural orranatural method. The method entity
can be used with other entity that can be conndotéd For instance, the method entity
can be used with the derivative entity to showdéevation of a non natural method.
We can also use the word function to show the nekémity. Usually we use the
method entity to show the actual method producethéypplication of a theory or
specific theorem from a theory. We can also sayattiual method produced by the
application of a theory related to the derivatidénhat method.

Available Option
Available options for the method entity include:
* Method
* Natural method
* Non natural method
* Function
* Natural function
» Existing function
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» Existing method

* Added method

* Name of method

* Name of method with subscript
* Added functions

 Etc.

The Instrument Entity

Instrument

Usage and Description

The instrument entity can be used to show a naitasglument or non natural instrument.
The instrument entity can also be used to shownanatural system. It is always
preferable to use the instrument entity to showmmatural system. The instrument
entity can be connected with the derivative entitghow the derivation of a non natural
instrument. When connected to the derivative grtie function of the instrument
depends on the derivation and the application @by that derives the instrument. Since
we concern about the function of the instrumenthis case it is always good to refer the
theory transformation entity section for more det&ee the entity usage section for
more information. We can use the instrument emdityhow an instrument that is being
derived. We can also say we use this entity tevsdno instrument after being derived.

Available Option
Available options for the instrument entity include
* Instrument
* Natural instrument
* Non natural instrument
* Non natural system

* Things
e ltems
 Etc.

The Interpretation Function Entity

| nt{ } Interpre‘fation
Function
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Usage and Description

The interpretation function entity is used to shibe interpretation of a theory, theorem,
or principle. The interpretation function takesotimput, the theory that is being
interpreted and theory communication. The outpdthe interpretation function depends
on theory communication, rather than the theoryithbeing interpreted. The function
below shows the output of the interpretation fumctielated to the theory that is being
interpreted and the theory of communication.

Theory of Communication Theory Being I nterpreted Result or Output
Green Green Green
Red Red Red
KT A Int{ A}
Green Green Green
Red Red Red

Available Option
Available options for the interpretation functiorciude:
* Interpretation function
* Interpret
» The theory interpretation function
* The interpretation function
* The interpretation entity
» The theory interpretation function entity
» The interpretation function entity

- Int{ }

The Interpreted Theory Entity

A Theory A

Usage and Description

The interpreted theory entity is used to show arhéhat is being interpreted. Since the
interpretation of a theory happens internally,ititerpreted theory entity can only be
used for illustration purpose only. In other waqrsisice the interpretation of a theory is
personal, it is not possible for us to identify theerpretation of a given theory by
someone; for this reason, the interpretation theatity can be used for explanation
only. Since a theory is being interpreted to pnes@other theory, in this case, refer to
the presented theory for more result about theprdéed theory entity.
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Available Option
Available options for the interpreted theory incud
* The name of the theory

 Theory A
- A
* Etc.
The Presented Theory Entity
A Theory A Prime

Usage and Description

A theory is being interpreted to present anotheotts. Since the result of the
interpretation depends on theory of communicatilba presented theory always depends
on the theory of communication. In this case, sitpee theory of communication will

lead to positive presentation while a negativehebty of communication will lead to
negative presentation. The table below showsdseltrof the presented theory related to
the theory of communication.

Theory of Communication Theory Being Interpreted Presented
Theory
Green Green Green
Red Red Red
K, A A
Green Green Green
Red Red Red

Available Option

Available options for the presented theory include:
* The name of the theory with prime on it
» The prime version of the interpreted theory
* The prime result of the interpreted theory
* Theory A Prime
« A
* Etc.

The Instrument Derivative Entity
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d
dT

Instrument Derivative

Usage and Description

The instrument derivative entity is used to shoevderivation of an instrument with
respect to some theory. We can also say the msttuderivative entity is used to show
the process of deriving a non natural instruméihce natural elements or natural
resources are needed in order to derive a nonatatstrument, those elements can feed
the derivative entity to show the derivative pracekthe instrument. Since we are
concerning about the function of the instrumerferréo the theory application entity and
the instrument function entity to show the functafrthe derived instrument related to
the derivative entity. For more information, skee éntity usage section.

The instrument derivative entity is used to showvdirivative of an instrument with
respect to some theory. While in general we ugerthrather than the name of the

theory to show the underlined theory, it is alsodyto know that the derivative entity
takes the name of the theory into consideratioanavhen it is not show. Since the
underlined theory is related to the theory entitg,show the respective theory here rather
than the name of the theory. For instance, asshatave use the instrumentation theory

to derive an instrument, in this case rather tfﬂngac?l—l, we simply us%dl_l_; refer to
T
the example section for more information about gisihe instrument derivative entity.

Available Option
Available options for the instrument derivativeigninclude:

* The instrument derivative entity
¢ |nstrument derivative
* Derivative of instrument

d
dT
 Etc.

The Method Derivative Entity

dM

SR Method Derivative
dT

Usage and Description

The method derivative entity is used to show th&vdgon of a method with respect to
some theory. Usually, the method derivative ensitysed to show the derivation of an
entity that is not physical. For example, if weladfunction to life and that function is

not performed by an instrument that we derive, ame use the derivative entity as the
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basis to show how we derive that method. Reféhéaentity usage section for more
information about the method derivative entity.désired and needed, input elements
and natural elopements can also be used to feeddtieod derivative entity.

The method derivative entity is used to show thévdéve of a method with respect to
some theory. While in general we use theory ratmem the name of the theory to show
the underlined theory, it is also good to know tihat method derivative entity takes the
name of the theory into consideration, even whénnbt show. Since the underlined
theory is related to the theory entity, we showrtespective theory here rather than the
name of the theory. For instance, assume thatse¢he theory of marketing to derive a

method, in this case rather than us(%'\ﬁ/l—, we simply usedM; refer to the example
section for more information about using the mettedvative entity.

Available Option
Available options for the method derivative entitglude:

* The method derivative entity
* Method derivative

» Derivative of method

* Method derivative entity

am
dT
 Etc.

The Derivative Entity

d

— Derivative

dT

Usage and Description

While we use instrument and method with the deirreagntity to show the process of
deriving and instrument and the process of derigimgethod, it can also be used with
other name. For instance, if the word method asttument are omitted, other name can
be used in conjunction with the derivative entity.

Available Option

Available options for the derivative entity include
* The derivative entity
» Derivative entity

da
dT
 FEtc.
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The Natural Element Entity

¥

NE IE E

Usage and Description

The natural element entity is used in conjunctiatin the derivative entity, instrument
derivative entity, and method derivative entitystow the derivative process of a method
or an instrument with respect to some theory. Reféhe entity usage section for more
information about using the natural element entity.

Available Option
Available options for the natural element entitglude:
* Natural element
* Input element
* Energy
* Natural resources
* Name of natural element
* Name of input element
* Name of natural resources
* Etc.

Other Relationship Entity

D = —

Usage and Description

The entities listed above can be used to showellagionship of two entities. For
instance, we can use any of them to show the oelsttip of an entity and another entity.
We can also use them to show result of an operat@n instance, since the application
of a theory produce a function or an instrumentcese use that relationship to show that.

Available Option
Available options for the relationships entitiestdid above include:

* Produce
« Generate
* Give

* Equal
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* Result

* Depend
*  Output
* Etc.

The Functional System Entity

Life

Life

Existing functions

Functional
System

Added functions

Usage and Description

The functional system entity is used to represémt Life is made of two sets of
functions: the set of existing functions, and teedf added functions. We can use the
functional system entity to represent the functithra life is made up. Refer to the entity
usage section for more information about usingtinetional system entity.
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The functional system—Iife—can also be referredd@ function container. As we

show it above, the functional system is made off lexisting and added functions. As
we can see from the diagram, there is an areastirgy functions as well as an area for
added functions. To separate the functions soanéetter understand them, we provide
a container to group those functions. The diagoalow shows both the existing

function area and the added function area. Weatsmsay that, existing functions
container and added functions container. Hereitlage of word container and area have
the same meaning.

Existing Function Container

Added Function Containter

Life

Available Option

Available options for the functional system entitglude:
» The functional system entity
* Functional system

- L(Y)

L I

* Life

* Life of time
e Our life
 Etc.

The Added Function Entity

Added Function

Usage and Description

The added function of life entity is used to représa function added to life. Usually, we
use the added function of life entity to represenbn natural function. We can use the
added function entity with number or index to reger® a non natural function of life.
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Refer to the entity usage section to learn moreiabsing the added function of life
entity.

In an application or a project, the added functian be considered as the overall
function of that project or a function of an orgaation. That function can make up of a
lot of more functions. It can also be consideredh@ average function for the overall
project or organization. In this case we can radet as the main function. In an
organization, the added function can be considasettie average of the overall function
of that organization. It can also be consideredftimction of a unit or simply a unit in
that organization. From what we have just saidcaresee the main function can be: a
function of an organization, the overall functiantiee main function of an organization,
the average function or the average function afieatthat make up the main function,
the average of all functions that enable the manttion to work or execute.

Given that a function can depend on other functitmes underlined function or the main
function can be considered the function of the aentities that make up the main
function. For instance, if we consider the unaexdi function as the main function, it
includes the functions of the overall entities tmatke it. In other words, those entities
also weight on the main function. Refer to thetgnisage section for more information.
The way to look at it, the main function includas taverage of the overall function that
make it or the average functions of entities thakenup this function. In this case, we
can simply look at the entities that make up thénrhanction, and then take a look of
functions of those entities. Then we can determihether the function of those entities
execute property. In other words, since the fumstiof those entities affect our function,
relatively to them, we can determine if our funotexecutes properly. If not, we can
then provide a level in terms of weight for thosadtions, and then we can look at our
main function related to that level. In this case,can quickly see those function weight
on our main function; see the entity usage se¢tomore information on this topic.

Most of the time when we refer to an added functiea use the name of the entity that
performs that function and the function name inssuipt. For instance, we use this form

F\’f (t) to show the flush of a radiator related to tinviée can index that function to any

number that we like, for instance if we assume nema we can index it tol,(t) or

simply fucntion2. In addition to that, we can also use brackshimwv that, if we want

to, we can also us bracket with the name of thieyethtat executes the function to show
that function. For instance, we can use brack#t thie name and the function of the

radiator to show that function. In this case Weel‘l%{ f (t)] . We can also use this form

with the index of the function IikE[uz(t)] . From the previous sentence, we simply

show that the function with index 2 is executedhmsy radiator where we simply use the
first letter of the name to denote the radiatos aXecap of what we have just said, let’s
list the following functions; all of them are tharse.

R[ fl ush} = Radiator [ fl ush} = R[ function 2]
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R (t) = R[ f (t)} = R[uz(t)} =u,(t)

Available Option

Available options for the added function of lifeinde:
Added function

* Non natural function

* Added method

- u(t)

* Added function of time

* Non natural method

* ufunction

» afunction or afunction plus number

* The name of the function

* Non natural function with index

* The name of the entity with function in bracket

» The first letter of the name of the entity with thé&unction in bracket with index
» The first letter of the name of the entity, witm@dion in bracket with index

» Added function with index or number like FunctionFLinction 2 etc.

»  Added function with index or number likk(t) , U, (t) etc.
 The name of the function in abbreviation

» The name of the function and the entity that penfothe function in abbreviation
* Etc.

The Existing Function Entity

Existing Function

Usage and Description

The existing function entity is used to represenéxisting function or life. We use the
existing function entity to represent a naturalchion of life. We can use the existing
function of life entity with the functional systeemtity to show existing functions inside
the functional system. We can also use index amaber with the existing function

entity to represent an exiting function. If we wémwe can also use the function name
to represent the function. If we don’t want to us#ex with the function name, we can
also use the name of the entity that execute thetitn. Refer to the entity usage section
for more information on using the existing functiemtity.

While we use the name of the entity that executesatural function and the function

name to show an existing functions, rather thangusubscript, if we want to we can also
use bracket and the entity name to show an exiiimgtion. For instance, for the
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whistle of a nightingale, rather than usiNg,(t), if we want to we can use the bracket to
show the function. In this case we heN{aw(t)]. If we want, we can use index of the

function inside the bracket, which givesNJ[shz(t)]. The following functions are
equivalent to what we have just said.

N [WhistIeJ = Nightingal e[whistle} =N [ function 2}

Nw(t) =N[w(t) | = N| hy(t) | = hy(t)

Available Option
Available options for the existing function entihclude:
» Existing function
» Existing function entity
* Natural function
* Natural method
* Natural function with index
» Existing function with index number like FunctionAunction 2 etc.
«  Existing function with index likéy (t), h,(t) etc.

. h)

e “H”,'T”

» Existing function of time

* The name of the entity with the function in bracket

* The name of the entity with function index in bratk

* The first letter of the name of the entity with fln@ction index in bracket
* hfunction

» ‘“efunction” or “efunction” plus number

* Function name

* The name of the entity that performs the functiod the function name
» The name of the entity that performs the functiod the function in abbreviation
* Etc.

The Domain | dentification Entity
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Domain Domain
Name Name

Usage and Description

The domain identification entity is used to shodoanain. The domain identification
entity is used to represent a domain. A domadefthed as an area with its own set of
rule. A domain is an area with its own set of pipfes. A domain is an area of interest
with its own set of rule. A domain is defined asasea of interest with its own set of
principles. It is very important not to misintegpthe definition here. Here we provide
two definitions of the word domain. Let’s repeaagain: first, a domain is an area with
its own set of rule or principle. Second, a donigian area of interest with its own set of
rule or principle. If we were going to use therd pointsto arrow label to show the
entities the definitions point to, we should quicktalize that both definitions point to
different entities. So the first definition wilbpt to an entity, while the second one will
point to a different entity. Refer to the entityage section for more information about
domain. The domain identification entity can bpgded or rotated to reflect the area that
is being identified. While we show two of them abpwe could have shown one. We
can also think it that way as well, once a domsiidéntified, there must be another
domain. For that reason, it is always good to shoather domain after showing the first
one. Another way to look at domain is that, if greciple of a domain is unknown and
the domain is not of our interest, we simply diswelgthat domain. In other words, since
we don’t know the operating principles of that domend it is not of our interest, there is
no need and no reason to think or have intergsiaindomain. It does not make any
sense at all. Since we are a theory dependaliensyae need principles to enable us to
understand entities, with the absence of a domaiciples, there is now way we can
understand that domain. Given that we generatativegphilosophies when we
misunderstand ourselves, in the even that we tdyg@reas that we are not suppose to
since we don’t have any theory that enable us teadeve simply develop problems. The
domain entity can be positioned top, bottom, left,and right to reflect the

identification. It is very important to understatict; and it is very important to
understand our theory dependable characteristic.

Available Option

Available options for the domain identification #pinclude:
* Domain
* Domain entity
» Domain identification
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e Area
* Area of interest

* Region
* Region of interest
* Etc.

The Principle Entity

Principle

Usage and Description

Refer to the theory entity for more about the gptecentity. The principle entity is the
same as the theory entity. Whenever we use thd pranciple, to some extent we mean
theory. Whenever we use the term set of prinai@enean theory as well. Principle
means theorem to some extent. We can also saietheas well. Refer to the entity
usage section for more information.

Available Option
Available options for principle include:

* Principle

* Principles

» The principle entity
* Theory

* Theorem

* Instruction
e Set of instruction
 Etc.

The Exchangeable Element Entity

Exchange Element Exchangeable Entity

Usage and Description

The exchangeable element entity is used for theemnthat we exchange. In other
words, the exchangeable entity is used to idefttigyentities that are exchangeable. In
other words, we use the exchangeable element ¢émtstyow entities that are
exchangeable.

Available Option
Available options for the exchangeable entity idelu
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» Exchangeable entity

 Goods

* Services
 Resources

* Money

e Non natural instrument
e ltems

* Things

 Etc.

The Method Derivative Function Entity

Method Derivative
Function

MDF

Usage and Description

The method derivative function is used to showdevation of a method from a theory
related to the application of that theory. Usualhe method derivative function tells us
the reason we apply the theory with the naturahel® or input element to do what we
do. The method derivative function simply descsibiee entity produced by the
application of the theory related to the derivatiddhe method derivative function
describes the entity that is derived related tcaghy@ication of the theory. Usually, the
method derivative function results to the entitgttis produced by the application of the
theory related to the derivative. For instance,ehtity produced by the application of
the theory related to the derivative from the ratefement.

Available Option
Available options for the method derivative funationclude:
* Method derivative function
* Method derivative entity
* The method derivative entity
« MDF
* Etc.

The Method Function Entity

ME Method Function

Usage and Description
The method function entity is used to show the fiamcof a method. For instance, after
we derive a method, we can use the method funetitity to show the function of that
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method. The method function entity is always ditatcto the method derivative
function, to show where that method comes fromudllg the method function describes
the method produced by the method derivative fonctiThe method function is the
function of the actual method. For instance, tle¢hmod function tells us what that
method is used for and what the function of thathoe is.

Available Option
Available options for the method function include:
* The method function entity
* Method function
* The method function entity
* Method function entity
* Method function name
* Etc.

The Instrument Derivative Function Entity

Instrument Derivative
Function

IDF

Usage and Description

The instrument derivative function is similar te tmethod derivative function, except we
use the instrument derivative function for instrumse while we use the method
derivative function for methods. The instrument\ive function tells us the reason
we apply theory to derive that instrument relateddme input element or natural
element. We use the instrument derivative funcimshow the derivative of an
instrument from an input element or natural elemelatted to the application of theory
or theorem. Refer to the entity usage sectiomfore information about the instrument
derivative function.

Available Option
Available options for the instrument derivative étion include:
* The instrument derivative function entity
* The instrument derivative function
* Instrument derivative function
* Instrument derivative entity
* Etc.

The Instrument Function Entity

IF Instrument Function
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Usage and Description

The instrument function entity is the function bétinstrument produced by the
instrument derivative function related to the apgaion of theory. Usually the
instrument function shows the actual function @& itstrument that was derived from the
application of the theory with the input or natugl@ment. The instrument function is
similar to the method function. Except we useitistrument function for instrument.
Refer to the entity usage section for more inforamaabout the instrument function.

Available Option
Available options for the instrument function eyiitclude:

* Instrument function

* The instrument function entity
* The instrument function

* Instrument function entity

* Etc.

The Instrument Service Function Entity

Instrument Service

I S: Function

Usage and Description

We use the instrument service function entity tovglthe service of an instrument.
Assume that we apply theory to service and instninvee then use the instrument
service function to show that. The way to look atve apply theory to produce or derive
a service, and that service is the service of afnument. For instance, we can use input
element with the application of theory to servicdrestrument, in this case we can use
the instrument service function to show that. Ffsrument service function is similar
to the method derivative function or instrumentiiive function, but the difference is
that in this case we do not derive an instrumeist imrethod, we simply service an
instrument. The instrument service function comsias well to the instrument that is
being serviced. Refer to the entity usage sedtiomore information about the
instrument service function.

Available Option
Available options for the instrument service fuontinclude:

» The instrument serviced function

» The instrument service function entity
e Instrument service function

* Instrument service function entity
 Etc.

The Service Function Entity
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SF Service Function

Usage and Description

The service function can be used to show the agpit of theory to service an
instrument. For instance, a person can apply yheoservice an instrument. In this
case, the service function simply shows the fumatibthat service. In other words,
theory is applied to produce a service, and thersémvice function is the function of that
service.

Available Option
Available options for the service function include:
» Service function
* The service function entity
» Service function entity
* Etc.

The Method Executed Function Entity

Method Execudc
MEF Function

Usage and Description

The method executed function shows the functioa wiethod after being executed. For
instance, if the execution of a method producasation, then the method executed
function can be used to show the function produmethat method when it is executed.

Available Option
Available options for the method executed funciimiude:
* The method executed function
» The method executed function entity
* Method executed function
* Method executed function entity
* Etc.

The Function to | nstrument Entity
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Function to Instrument

FI

Usage and Description

The functions to instrument entity enable us tonstite instrument the functions are a
part of after being grouped. Assume that multgdeple are working in a project to
derive an instrument. Since each person workgenidently to derive specific function
or part of that instrument, and then later grodiphed functions of the instrument together
to produce the main instrument, the function tarimeent entity enable us to do just that.
The way to look at it, assume that five peoplevameking together to derive an
instrument where each person derives specific fomdf that instrument. The result will
produce a main function for the instrument, whéeedrouping entity can be used to
group the five functions to produce the main fumati The output of the grouping entity
can be attached to functions to instrument enditghtow the instrument that results from
the functions. Refer to the example section foramoformation about using the
functions to instrument entity.

To better understand the usage of the functiongtsument entity, let’s look at it in the
following form. Assume that four people are workilogether; they apply theory to
derive an instrument. In term of the overall instent derivation, each person has
specific function. The resulting function will lee combination of four functions from
four people. In regard to what we have just séie ,output function can be presented as
shown by the diagram below.

u, (t)
u,(t)
U(t)

u,(t)

———»u(t)

v VvV Vv Vv
+

The diagram above shows the result of the outputtion. Now we have the functions
of the four people, we must combine those functiorshow the instrument. To do that,
we can use the function to instrument entity asvshioelow.
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u, (t)
u,(t)
U(t)

u,(t)

vy VvV Vv Vv
+

u(t)

The resulting function above can be viewed in tilWing form

Il[ul(t)} +1 2[uz(t)} +1 g[u 4t)} +1 {u L(t)} = [u(t)}

Where the terms are interpreted as follow

|1 Part 1 of the instrument
Function of part 1 of the instrument
|2 Part 2 of the instrument
U2 Function of part 2 of the instrument
|3 Part 3 of the instrument
U3 Function of part 3 of the instrument
|4 Part 4 of the instrument
u, Function of part 4 of the instrument
| Putting together the instrument
u(t) Function of the instrument together

The function to instrument entity can be used ddgsmhow we structure our

application. For instance, assume that part hefpplication is made of several other
parts, which we can call sub parts, the functiomstrument entity can be used to group
those parts to show the output part. The diagralambshows an example, where it

shows part 1 of the application is made of seveséls.
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u,(t)
Up,(t)
U, 5(t)
Uy 4(t)

WO,

v VvV Vv VY
+

Available Option

Available options for the function to instrumentigninclude:
» Function to instrument
* Function to system
* Etc.

The Function to Method Entity

Function to Method

FM

Usage and Description

The function to method entity is similar to the étion to instrument entity; the only
difference is the function to method entity is ug@dmethod rather than instrument. The
function to method entity is used to show the métthe resulting function is a part of.
Assume that multiple people are working to deriveethod. Each person derives a
specific function to produce the main method. g énd, the main method will be the
result of each method grouped together. After gimgiall the methods together to
produce the main method, then the function to ntettam be attached to the main
method to show the method the main function isragfa Refer to the example section
for more information.

Available Option
Available options for the function to method entitglude:

* Function to method entity
* Etc.

The Grouping Theorem Entity
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o _/

Usage and Description

We can use curl braces to show the grouping ofrémes in a theory. We know that a
theory is a set of principles. According to oudarstanding of theory, since theorems in
a theory can have some meaning, it may be podsibles to show a group of theorem in
a theory. We can use the curl braces to showgtioap. The grouping approach of
theorem requires a very good understanding of yhaod fundamental of theory. Refer
to the entity usage section to learn more aboutisiveg of curl braces to group theorems.
While we use the grouping theorem entity to grdwgmtem from a theory, while
theorems cannot be identified by someone for sometse, they also cannot be grouped
by someone for someone else as well. The waydlodbit, the term grouping theorem

is viewed as personal. While we use the ¢eaup theoremsin a theory here, the term
group theorems from a theory is much, much better.

Available Option
Available options for the theorem grouping entitglude:
» Theorem grouping entity
* The theorem grouping entity’
* Group of theorem
» Group of principles
» Principle grouping entity
* The principle grouping entity
* Etc.

The Stability Entity

Usage and Description

In the theory domain, it is very important to balde. In the theory domain, it is very
important to maintain stability. Since theory gives ideas to do what we do, without
stability, we would not operate well. Since thegiyes us ideas to do what we do, we
want our ideas to be very stable relatively to whatdo.

We know that our intelligence works in an increnf@etrement basis. Relatively to our
intelligence, we want the ideas we get from theorlye very stable. The stability entity
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enables us to operate inline with our basis. Bélgiche stability entity is related to our
basis and our understanding of what we do. Weatsmsay that it is the fundamental of
our understanding of what we do or theory that pg@yato do what we do.

Usually, we use the stability line or the stabilégtity with graph to show our function
execution related to our basis of operation. Rathen using the graph with the stability

entity to show the performance of our function exem, we can also use tables to show

that. For instance, relatively to our basis, aurction executes normally. In this case,
we can show that in a graphical format the funceaecutes at the level of stability. In
this case, we can say that the function is exeaubechally or at 100% stability, which is

usually atk or at thek line as shown below.

Kk ————— N

4

The diagram below is the same as the one above

Function 1

time 1

time

time

Now, we can also use a table to show the samemattoon. For instance at tinj'q or at

time equal tdime 1, our function is 100% stable. We can also saydh#hat time, our
function executes at 100% stability or normallg.this case, we have this table.

Time of Execution

Function Name

Value of Stability

Time 1

Function 1

100%
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Now, assume that we are not operating at our loagiar fundamental, our function

would be lagging. In this case, related to ourarsthnding, our function is executed
below the normal level. From what we have justi,sae can use number below 100% to
show that. For instance assume that within ouksjore execute a function first at 90%
stability, and the second time, at 80% stabilitg, an use a table to show that or a graph.
From the same table above, we can add those values.

Time of Execution Function Name Value of Stability
Time 1 Function 1 100%
Time 2 Function 2 90%
Time 3 Function 3 80%

Both of the graphs below are the same

k
o (t)
U, (t)
2
! 0, (1)
time
b > [
Function 1
kH————— - — - — - - - = = = -
Function 2
T Function 3
time 1 time 2 time 3 time

The stability line tells us if the function we exie is inline with our basis. Itis very
important to be stable in the theory domain. Re&dehe entity usage section for more
information about using the stability line. Keepnind that the basis of our operation is
considered to be the ceiling of our operationottmer words, the basis of our operation is
considered to be where our functions point to. dAte also say that the basis of our
operation is considered to be where we point to.

Available Option
Available options for the stability entity include:
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* The stability entity

* The stability line

» The stability line entity
* Our basis of operation
* Our fundamental of operation
* Our fundamental

* Our basis

» Basis of operation

* Function stability

» Application stability

* Project stability

» Stability of what we do
* Project basis

» Application basis

» Basis of what we do

* Function basis

» Basis of what we do

» Task basis

* Application basis

* Etc.

The Destination Entity

0

Usage and Description

It is very important in the theory domain to haveestination. Given that our
intelligence works in an increment/decrement bagescan only approach one
destination at a time. Without a destination, waild not be able to operate property.
Having no destination is like having no future. vite no direction is like having no
guidance. It looks like we are going nowhere wiverdon’t have a destination. Since
our intelligence can only decrement and incremeithout proper destination, we can
only decrement or think negatively.
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In the theory domain, it is very important to havdirection or a positive direction. We
use the house to define our destination, whichedundamental of our operation or the
area we operate. Usually the house tells us wiiereperate. We always operate in the
house. We should never leave our area of operatimually, the house is the entity we
are looking at when we are operating. Another teapok at it, we think about that
house when we are doing something; we usually tabdut it to do what we do. It gives
us ideas or direction. Once we leave it, we ngédorhave a destination in mind.

The similarity between the house and the staHiliy is that we operate at the house
where the functions we execute are inline withitbese. We use the term inline to
represent the function we execute at the houséhenkouse itself to represent the area or
the region of our operation. It is very importamunderstand the house, which is the
destination entity. Any misunderstanding and ntésjoretation will lead us to problem.
Let’s say it again; the house is our area of opmratWe look at the house to do what we
do. We think about it, when we do what we dothie event that we are not at the house,
we always look at it, and pursuing the directiogéd to it. Let’'s repeat the similarity
between the house entity and the stability entile operate at the house, where the
functions we execute are inline with the houseottrer words, we operate at the house
where the functions that we execute executing aoegrto the house. Those functions
execute inline with the house; inline is referrtoghe stability entity. The stability line
tells us whether or not our functions execute atiogrto the house or inline with the
house.

We use the house entity to define the basis obparation. Basically the basis of our
application is related to our operating principidich includes the principle that we
apply to execute or derive the function that wevaoeking on. In this case, we can
incorporate the basis of our application with rag@ph, distance to monitor the
performance of our function related to our underditag of the principle. We can also
use time and the understanding of the principlelt In this case, all those entities are
related to our understanding and the applying tireiple. We use the house basis to
provide us direction of our understanding of thagple related to our application. We
can incorporate the house with distanced to sholousfar we are from our goal.

It is very important to have a destination in thedry domain. Given that we are a
theory dependable system and the application afyhenable us to do what we do, we
must have a destination related to what we do la@dry that we apply. Since our
intelligence works in an increment/decrement basésmust have a destination related to
our understanding of the principle that we appifie house entity provides us with a
destination related to our understanding of whatlae As a theory dependable system,
without a destination our theory dependable charestic would not be understood by us.
Without a destination, we don’t think as a theoepehdable system. Without a
destination, we would not think property about wivatdo. As a self controllable
system, we must have a destination.

Available Option
Available options for the house entity include:
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* The house entity

* The destination entity
* Our destination entity
* Application destination
» Project destination

» Destination of what we do
* Our direction

* Our basis

e Our home

*  Our fundamental

* Our house

* Etc.

The Direction Entity

Usage and Description

The road entity is like a path that we take tolthase. We use the road entity to go to
the house. Assume that we are not operating dtdhse and we want to go to the house,
since it is our home, we use that path to go th&tet road is the only route that can take
us to the house. There is no other road to gbadbuse. The road entity tells us where
to go to the house.

Since we know it is very important to have a dedton in the theory domain, it is also
very important to follow the right direction in thieeory domain. Given that our
intelligence works in an increment/decrement basgscan only follow one direction.
Given that our intelligence works in an incremeeti@ ment basis, we can only have one
direction in mind to do what we do. The road gnpitovides us direction to the house,
which is basically the direction of our principlesoperation. By following that road, we
always follow the principles that enable us to dmtwe do. Another way to look at it,
assume that we are not operating at the housemag$iat our functions are not executed
normally at 100% stability. Now assume that wels®w normal for instance at 50%.
That means we are not at the house. We are imo#ie we need to follow the road to the
house. Since we cannot fly to the house, sincénbeltigence works only in an
increment/decrement basis, we need to follow thie parementally or in a timely
manner until wet get to the house. In other wondsneed to learn and apply the theory
that enables our function to execute normally umélget to normal or stability. At the
time we are in the road and our functions do netate normally, we cannot jump to
normal or 100% stability. It is not possible.islivery important to understand what the
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road is. That pathway is very important to usenéables us to follow our principles of
operation.

Since our intelligence works in an increment/de@etiasis, we can only be in one
direction at a time. Given that theory can onlyabelied individually by a person and
that person is a single person, only one direateombe followed. We cannot have two
directions at a time; it is not possible. In othards, since a person cannot be
duplicated, only one direction can be followedislhot possible to follow two directions
or be in two directions at a time. This is the saam saying that, we cannot be in two
locations at a time.

The road entity provides us the direction of whatdw. Given that we cannot
accomplish everything we are doing instantly; gitieat our intelligence does not allow
us to do everything instantly in terms of learnargl applying the principle, however by
having a direction, we can incrementally do evenglwe need to do in a timely manner.
Given that our intelligence does not allow us trteand apply the principle instantly,
however by having a direction we can incrementiadyn and apply the principle in a
timely manner. As a theory dependable system, ust hmave a direction. As a self
controllable system, we must have a direction. h@l(it a direction, we don’t act as self
controllable. Without a direction, we don’t thiak self controllable.

We can use arrow with the road entity to show whereare heading. For instance, we
can use the up arrow to show that we are heading the house, while we can use the
down arrow to show that we are heading to the dpgpdgection.

Available Option
Available options for the road entity include:
* The road entity
» The direction entity
* Our direction
* Application direction
* Project direction
« Direction of what we do
*  Our pathway
e Our route to our house
* Route to our basis
* Route to our fundamental
e House direction
» Direction o our house
» Destination direction
» Direction of our destination
 Etc.

The Road Mark Entity
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Usage and Description

We use the road mark or distance mark entity tovdmw far we are from the house.
Since we are operating at the house and the heuse area of operation, if we are not at
the house, we want to know how far we are fromMe use the road mark to show how
far we are from the house. It is very importantitalerstand the road mark and the
distance mark. Since the house is our basis abtipa, we always think about it and
look at it. In the event that we are not operatihgur basis, we always want to know
how far we are from it. While we are pursuing path on the road, by setting a mark at
a specific point, as we continue, we can approxenoat distance. For instance while we
are in the path, we set a markt a point, then we continue and set another inaitk
another point. Now we can approximate the distamcedetermine if we are farther or
closer to the house. It is very important to ustierd the distance marks and their
usefulness.

Since our intelligence works in an increment/de@enbasis, we always need something
to think about when we do things. In the event Wi disregard our fundamental or our
basis of operation, we simply disregard the holéew, we simply move away from the
house. Once we recognize we are not at the hagseeed to move or walk to the
direction of the house. Since we cannot fly toltbase, we need to walk incrementally
in order to get there.

The way to look at it is that if we are not opargtin normal mode, the functions that we
execute are not 100% at our basis. In this caseyaed to work to enable our functions
to execute at normal level. Now assume that watb0% normal, which is about half
way from the house, we can set a point there, tbatinue. Now we do everything
possible to learn the principle of our operatiod apply it property. Later we can set
another point which is related to functions thatexecute at that time. We can then
determine whether those functions approaching nidiewal or execute better than
previously. Assume that we execute at 48% of thesh, which mean we are closer to
the house. In this case we are making progrebs.48% means we are at a closer
distance to the house.

Available Option
Available options for the road marks entity include
* The road mark entity
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» The distance mark entity
* Road mark

* Point mark

* Mark name

» Distance name

* Points
+ Distances
 Etc.

The Distance Entity

< distance > < d >

Usage and Description
The distance entity is the difference between twadirmarks. Refer to the usage of the
road mark entity for more information.

Available Option

Available options for the distance entity include:
* The distance mark
» The distance entity
» Distance name

e Dord
» Distance mark
 Etc.
The Theory Scale Entity
oo | | | | | | | | | | | & oo
[ [ [ [ [ [ [ [ [ [ [ [
-5 4 3 2 -1 1 2 3 4 5
oo . e L L e
-5 4 3 ) 1 1 2 3 4 5

Usage and Description

Since a theory is an infinite set of principles &émere is no limit in term of our learning
ability. We can use the theory scale to show aoction execution related to our
understanding. In other words, we use the thecalego show our function related to
our application of theory.

Usually, the theory scale uses only positive numibetr since we are a theory dependable

system and when we disregard a theory we simplyat@é the philosophy mode, so it
makes sense to present the theory scale with negatimbers as well. In this case, the
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negative part is used for negative philosophiesegative ideas, where the positive part
is used for theory.

We use the theory scale chart to show the leveliofinderstanding related to

application of theory. In other words, we usechart to show the level of our
understanding of the function that we execute. cAfealso say that we use it to show the
performance of our function related to our undewditag. For instance, assume that we
are operating below stability. We realize that amdare in the process of learning and
applying theory properly. Now, at the time we weperating below stability, we did not
have a good understanding of what we were doirgg.ttfat reason, our function did not
execute property. At that time, we can show oacfiwn at a level on the scale. For
instance, assume that at that time we were at aslshown below. Both of the charts
below are the same.

Sfunction 1

o o | | | | | | | | | | |® 0
x x 1 x x x x 1 x x x x
-5 -4 -3 -2 -1 | 2 3 4 5
u, (t)
o o | | | | | | | | | | | & 0o
\ \ | \ \ \ \ | \ \ \ \
-5 -4 -3 -2 -1 | 2 3 4 5

Now we are making progress in learning and applstegtheory that enable our function
to execute. As we are making progress in learaimyapplying the theory, our function
also executes better. We can adjust the charteatmoshow how our function moves
with our level of understanding. In this case,shew the moving of the function related
to our understanding. Now, our function executitelbgbecause we have a better
understanding of what we do. We show that on bagtdelow; both of them are the
same.

Jfunction 1
LI | | | | | | | | | | |® 0
x x 1 1 x 1 x 1 x 1 x x
-5 -4 -3 -2 -1 1 2 3 4 5
u (t)
o o | | | | | | | | | | |® 0
x x 1 x x x x 1 x x x x
-5 -4 -3 -2 -1 | 2 3 4 5

We can approach the theory scale like shown byathie below. Since the theory scale
shows the level of our theory application, we cae this table to show the result.

Theory Apply Theory Result or Output Function on Scale
Green Green Green Positive
Green Red Red Negative

Red Red Red Negative
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T Tr {T} u (t) On Scale
Green Green Green Positive
Green Red Red Negative

Red Red Red Negative

Available Option

Available options for the theory scale entity irdzu

* The theory scale entity
* Our level of understanding
* The scale of our understanding

* Our level of application of theory
* Our level of understanding of applying theory

» Level of theory application
* Level of function execution
e The level of what we do

* Level of understanding of what we do

* Theory scale chart

» Theory scale graph

» Application scale

* Project scale

* Function scale

* Function on theory scale
* Etc.

The Downhill Entity

Usage and Description
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We use the downhill graph, which is basically tlevdhill process to evaluate the
performance of our function. The downhill proceseelated to our function execution
based on us applying theory. The downhill proséssvs our function execution related
from our understanding. Since our intelligenceksan an increment/decrement basis
and our intelligence needs ideas from theory tdkwath in order for us to do what we
do, any negative previous idea will lead us to rwa do things negatively. In this case,
the normality of our function execution relateditoe always lags the previous one.
This process is known as the downhill in the thesgnain. We can represent the
process which is the downhill entity in a graphicamat

Basically, the downhill process enables us to shomfunction related to time. We can
also say that the downhill process enable us twshw average function execution
related to time. Here is the way to look at isuase that we are operating in the
philosophy mode. The way to look at it, we stard@ with some principles, but we did
not follow them. In this case, we drop the pritegoand rely on our own philosophies.
Since the application of negative philosophiedgs axpandable negatively, the previous
negatives lead us to more negatives. In this eese&an show our function execution
related to time in a tabulated form and a grapHmah as shown below. Both of the
tables and the graphs are the same. They shogdethi@ing of the function from normal
execution related to our understanding of the théwat enables us to execute the
function.

Time Function Per cent of Normal
t1 U, (t) 100
L U, (t) 95
L U, (1) 90
t 9 U, (t) 85
5 U, (1) 80
L U (1) 75
Time Function Per cent of Normal
timel function 1 100
time 2 function 1 95
time3 function 1 90
time4 function 1 85
time5 function 1 80
time 6 function 1 75
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Tll
time

Function 1

Function 1

Function 1
Function 1

Function 1
Function 1

time

time 1 time 2 time 3 time 4 time 5 time 6

The way to look at it, since we get the same idieams previous applications to execute
the current function and the next function, we curg to operate abnormally as time
goes. As shown above, we have used both a tatlle graph to show that. The graph
below is the same as the one above. All that wesgathe downhill entity with graphical
axis to represent the process.

Function 1

time

It is very important to understand the downhillgess. Our intelligence works in an
increment/decrement process and we need ideaswbatowe do. Now when we
disregard our operating principles, we simply djsrel our basis of operation. In this
case, we simply use negative philosophies as aenatipg basis. In other words, when
we disregard our operating principles, we simpbreljard the logic that enables us to
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execute functions normally. In this case, we synggerate negatively. This is basically
what the downhill process is.

Available Option

Available options for the downbhill entity include:
» The downhill entity
* The downhill process
» The downhill graph
* The downhill chart
» Downhill path
» Application declining
* Project declining
* Project Path
* Going down

«  Downhill
» Declining
* Etc.

The Uphill Entity

Usage and Description

The uphill entity is the process of executing aurdtions toward stability. Assume that
we did not start to operate at normal level. Imeotwords, at the time we start applying
theory to execute our function; we did not richmal level. At the time we start execute
our function, we did not rich our stability levaNow, we need to learn and apply theory
to enable to execute the function normally. Simgeintelligence works in an
increment/decrement basis, we cannot jump to #halniktantly. However, related to
time, as we keep learning and applying the themirgpme point of time we can reach
stability. The uphill process enables us to shHosvdrogress of our function related to
our understanding of applying theory. In otherdgby using the uphill process, we can
show the progress of our function execution relébetime.

To better understand the uphill process, let’s takke this. Assume that at the time we
realize that we are not operating properly; ouctiom was executed about 60% of
normal. Now that we realize that, we have takénedessary steps by learning the
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principle and apply it property in order to execate function property. As shown by
the table below, we use some percent values ofadorshow performance of our
function. Both the table below and the graphslaeesame.

It is very important to understand both the upiticess and the downhill process. We
can use both the uphill and the downhill processegpproximate a lot of functions in
life. We can also use them to approximate theoperdnce of entities that make up a
function and the performance of many functions thake up a main function. We use
the downhill process to show the declining of guplecation performance or our project
performance, while we use the uphill process tastie increase of our application
performance or the increase of our project perfocea

Time Function Per cent of Nor mal

timel function 1 60

time 2 function 1 70

time3 function 1 80

time4 function 1 90

time5 function 1 100

time 6 function 1 100

Function 1 ~ Function 1
k- " - - — — — — — —— — — ¢ — — — —
) Function 1
Function 1 r
Function 1
Function 1

time

time 1 time 2 time 3 time 4 time 5 time 6

Function 1

time

Available Option
Available options for the uphill entity include:
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* The uphill entity

* The uphill process

» Uphill graph

» Uphill path

* Project path

* Increase of application performance
* Increase of project performance

e Uphill

* Climbing
* Going up
* Etc.

The Time Mark Entity

Usage and Description

Using the time mark entity, we can set a time gpecific point during our function
execution to evaluate the performance of our fanctiAssume that we execute a
function now, and then we can record the time. kMhie execute the same function
later, we can also record the time, and then etaliie performance of both executions.
For instance, we can determine if we are makingq@ss now, or we make more
progress later. The time marks enable us to remardunction execution related to time
and determine the performance.

This is the way to look at it, assume that we areguphill. We start at 50% normal
and at the same time, we exedutaction 1 and we record that timéme 1. Later again,
we execute the same function, but at another tiN®wy, we can use the difference of
time to determine our progress. For instancdgfdecond time we execute the same
function, we get it to 60% normal, we can recor time and determine how long it
takes us to get that 10%. We can use change eftith the time mark to evaluate the
performance of our function. The graphs below shovexample. Both of them are the
same.
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Progress time is time

l 2 minus time 1
I I
I I

I | Function 1 Function 1
A Lo fmetont
I | .
I | Function 1
I | Function 1 ?
| | .
| Function 1
Funation 1

time 1 time 2 time 3 time4 time5 timeé6 time
iﬂﬂhi )  ou)
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O
NONR [
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Let’s review the difference between the uphill ¢fzard the downhill chart again. We
use the uphill chart to show the performance afrection that we add to life. In this
case, we show the execution of the function imely basis. In other words, every time
we execute the function, we show that on the grafated to our basis of operation. In
the other hand, we use the downhill chart to shendeclining of a function that we add
to life.

Available Option
Available options for the time mark entity include:
* The time mark entity
* Time mark
* Time line
* Time line entity
» Date line entity

e Time
« Date
 Etc.
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The Progress Time Entity

'Atu > < At > < time >

Usage and Description

The progress time entity is simply the differeneéneen the two time marks. The
progress time entity enables us to determine howg ibtakes us to make progress in our
application. Refer to the time mark entity for manformation. Usually, we use the
term progress time during the uphill process.

Available Option

Available options for the progress time entity uuis:
» The progress time entity
» Change of function related to application of prptes
» The difference time

» Uphill time

* Climbing time
« Time

* Deltat

» Delta t uphill

* Deltatime

* Delta time uphill
* Delta “t” ‘v”

. At

* Etc.

The Declining Time Entity

I AtdI I At ) ) time >

Usage and Description

Usually we use the declining time entity in the ddwll progress. Since in the downhill
process we continue to execute our functions negjgtiwe can approximate the time it
take to drop farther from normal. For instanceuase that we are operating in the
downhill mode, and then we are at 60% off norniédw, we can set a time mark at that
point, and then continue farther. While we congigown, we rich 70% off normal, we
then set another time mark and measure the titagetus from 60% to 70%. The graph
below shows the usage of the declining time eintityhe downhill process. Both of the
graphs below are the same.
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Decline time is time 6

minus time 5
I

Funltion 1 |
Function 1

|

time 1 time 2 time 3 time 4 time 5 time 6

Function 1

Function 1
Function 1
Function 1

time

tl t2 t3 t4 t5 t6

Available Option
Available options for the declining time entity inde:
* The declining time entity
» Change of function related to misapplication ofottye
* Declining time
* Time lost entity
* Downhill time
» Delta t downhill

e Deltat

e Time

« Down time
e Delta “t” “d”
- At
 FEtc.

The Lost Line Entity
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Usage and Description

We use the lost line entity to determine our loshf one point to another point. Assume
that we are operating in the downhill mode, wet fineecute our function and we execute
it at 90% of normal. We can put a line at thatknadow, we continue down and we
execute the function again at another time. Simeare in the downhill process, we can
put another line at that point. The differencenssin the two lines is our lost. The graph
below shows exactly what we have just said. Bilog at the downhill graph below, we
can see the total lost from time 2 to time 3 isdtierence between the two loses. We
can also use the lost line entity with the time krtardetermine the time it takes for
specific lost.

Total lost is the difference

between Lost 1 and Lost 2
Function 1
kl--—%---—-—" " —-—"—+—— —— — -
Function 1
————————————————————————————————————————————— Lost 1
> ig
_______________________________________ T ______ Lost2
Fundtion 1 Function 1
Function 1 .
Function 1
- - - - - - time
time 1 time 2 time 3 time 4 time 5 time 6

Available Option
Available options for the lost entity include:
* The lost entity
* Lostline
* Lost mark
* The lost line entity
» Lost of function declining
* Lost of normal
* Lost of fundamental
* Lost of stability
» Lost of basis
* Etc.

The Gain Line Entity
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Usage and Description

The gain entity is used to show our gain from dpepbint of a function execution to
another point of a function execution. Usuallywse the gain line during the uphill
process to approximate the time it takes us to gaour normal. For instance, since we
are not operating are our basis, incrementallyeifoentinue applying the theory to enable
the execution of our function, we can make progteasrd normal execution. Assume
that we start at 50% of normal; we can set a gamadt that point. Then the next time we
execute the function, we can set another lineatghint and compute the gain from the
two points. The graph below shows what we havesaisl. By looking at the graph
below we can see our gain between time 1 and tim@&e can also use time mark with
the gain entity to determine the time it takesdjpecific gain.

The total gain is the difference

between Gain 1 and Gain 2
Function]  Function ]
kK-l - - — — — — —— — —0— — — — -
. Function 1
Function 1 ?
Function 1 )
- ——— g ———————g—————f————— ] ———— . Gain 2
Q
5 Gain 1
. FﬁnTMn ““““““““““““““““““““ ain
- - - - - - time
time 1 time 2 time 3 time 4 time 5 time 6

Available Option
Available options for the gain line include:
* The gain entity
* The gain line
* Gain
* Gain of our basis
» Gain of our fundamental
* Gain of stability
» Function gain
* Gain mark
* Etc.

The Lost Entity

www.speaklogic.org Copyright © 2011The Speak Logic Project 73




1s07
1507 %
7
1%

Usage and Description
Refer to the lost line entity for more informatiabout using the lost entity. More
explanation has been provided in the usage andipsc of the lost line entity.

Available Option
Refer to the lost line entity for more option oe tbst entity. In addition to that, we can
add the following.

e Lost

e 09 Lost

e L

e OpL

e Delta lost
- AL
 Etc.

The Gain Entity

uipn
umwon %
D
D%

Usage and Description
Refer to the gain line entity to learn more abaihg the gain entity. More information
has been provided about using the gain entity badisage of the gain line entity.

Available Option
Refer to the gain line entity for more option oe tain entity. In addition to that, we can
add the following.

* Gain

*+ %Gain

» Delta gain
e G

* %G

- AG

* Etc.

The Stability Point Entity
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Usage and Description

We can use the stability point entity with graphies to show the graphical
representation of our function. Refer to the dolaimd the uphill entities for more
information about using the stability point. Ratki®an using the stability point entity as
shown above, if we want to, we can use a pointaalirte to show our function execution
at specific time. The stability point and the disbline can be used for both the
functional and the physical system stability.

Available Option
Available options for the stability point entitydiude:
» Stability point entity
» Personal stability point
» Stability
» Stability amount
» Percent of stability
» Function execution point
* Etc.

The Generation Time Entity

0 JAVS: At

<> <> <>
QO Time Timef Timea
<> <>

Usage and Description
We can use the generation time entity with graphghbw the time of a generation. For
instance, the generation time entity can be usédtive downhill graph to specify a time

for a generation. ThAta can be used for generation time after, whﬁlbf can be used
to show generation time before.
Available Option
Available options for the generation entity include
e Qtime
+ Q
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. Aty

.- At

e Delta“T" f
e Delta“T"a
e Time“f"

« Time “a”

+ Generation after
* Generation before
 Etc.

The Delta Philosophy Entity

Delta Philsophy
Usage and Description

We use the delta philosophy entity to show the setbpnd inherited philosophies. For
instance we can use the delta philosophy entishtiw the effect of philosophies on a
system. In this case the delta philosophy incladieimherited or adopted philosophies
by that system.

Available Option
Available options for the delta philosophy include:

» Delta philosophy

» Effect of philosophy

» Change of philosophy

» Change related to effect of philosophy
* Etc.

The Philosophy I nheritance Entity
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Usage and Description

We can use the philosophy inheritance entity tédoauiphilosophy inheritance chart to
show the inherited philosophies from generatiogeperation. In that chart, we can show
a lot of details for instance, size of delta plolplsy, percent grow, time, date, philosophy
pass through, philosophy inherited, person witlkeigchumber of people per generation,
philosophy with index etc. If we want to, we cdsoause the following entities to build a
philosophy inheritance chart.

4 Inherited

The inherited label shows how philosophies areritdgtfrom one generation to other
generations. In this case, it shows the direaticime philosophies from past times to
present times.

4 Pass Through

The pass through arrow shows how philosophiesthassgh from one generation to
other generation. This arrow is similar to thedanted arrow; however we can use it to
show the first inherited philosophy. For instant#e negative philosophy was
generated atme 1 and passed to another generatiotinad 2, we can use the pass
through arrow to show that. In this case, the &rgsow in the philosophy inheritance
chart will be the pass through arrow. The pasagharrow shows the first inherited
philosophies from one generation to another gelmerat-or instance in our case, it
shows the first inherited philosophy fraime 1 totime 2. This is basically philosophy
inherited atime 2 fromtime 1.
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Below is simply an empty chart for one generatitmthis case, we can put more data to
it in order to build a philosophy inheritance chart

Generation

time

>

( (
Date 1 Date 2

Below is an empty chart again. In this case itlsamsed for successive generation. For

example, assume we are building a philosophy itdrese chart, we can use the empty
chart above, then use that one for as many geoerasi we want.

Generation

time

>

'
Date 3

In addition to what we have said above, we carthiséime chart with the philosophy
inheritance entity to show more information abohitgsophy inheritance. We can also
use table to provide more information as well.

The philosophy inheritance chart can also be Iuilhe following form. In this case, we

use arrows with the philosophies to show more mtdron about them and also the
systems that adopt them; both of the diagrams balewhe same.

O OROW S O
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Available Option
Available options for the philosophy inheritanceigrinclude:
» The philosophy inheritance entity
* Philosophy inheritance
* Philosophy inheritance chart
* Adopted philosophy
* Philosophy from generation to generation
» Etc.

The Given Reference Entity

2%

® () &
W g R

Usage and Description

The Given Reference Entity can be used to showitren reference. The given
reference entity is a set that includes all prilegghat make up our utilization theory.
The items that include in that set are shown ingilien reference entity as there are. By
understanding that, we can see that items cannadded and removed from that set.
The set is made of 10 elements. They cannot heeeldand other elements cannot be
added as well. The 2 diagrams above show the gaference. Both of them are the
same. We can use either one of them to show tlem geference.

@@
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Available Option

Available options for the given reference entitylude
- R
* The given reference
* Our given reference
* A given reference
* Our reference
» Reference
* Areference
* The reference
* Etc.

Label Entity

We can use labels to describe or provide morenmétion to an entity or action. For
instance, we can use the give rise label to shthe@em comes from a theory. Here are
the lists of many labels. They can be rotatedippéd to any direction we want.

The GiveRiseLabd

We use the give rise label to show an entity tihaggrise to another entity. We can also
use it to show an entity that comes from anothétyenDepends what we want to show
or the direction of the entity, we can also chatingetext on the label. For instance, we
can use the give rise label to show that an egiitgs rise to another entity. In the other
hand, we can also change the texdeéiave from to show that the other entity comes from
the entity that gives rise to it.

A

N

WOIJ SOALIdD

Not give rise

Gives rise

Available Option
Available options for the give rise label include

* Give rise label
* Giverise

* Giverise entity
e Derived from

* Produce from
* Made of
 Etc.

www.speaklogic.org Copyright © 2011The Speak Logic Project 80




The Dependency L abe

We use the dependency label to show an entitydéqands on another entity. We can
also negate it to show an entity that does notmgpa another entity. This label can be
rotated or flipped to reflect or desired direction.

Depends > 4 Depends
4 \ Not Depend Not Depend / >
\ /

Available Option
Available options for the dependency label include

* Depend

» Dependency entity
*  Work with

» Part of

* Etc.

The Enable L abel

We use the enable label to show an entity thatlesamother entity. We can also
change the text on the label to show an entitydisgtble another entity or an entity that
does not enable another entity. Below is theolishe enable label.

Enables > 4 Enables
Disables > 4 Disables
4 \ Not Enable Not Enable / >
\ /

Available Option
Available options for the enable label include

« Enable
* Allow
 Etc.

Thelnteraction Label

The interaction label is used to show an entity tl@racts with another entity. The text
of that label can be changed to reflect what wedaneg. For instance we can negate the
interact word to show an entity that does not adewith another entity. The label can
be rotated or flipped to reflect our desired di@tt
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4 Interact Interact '
4 \ Not Interact Not Interact / >
\ /

T~ T
m/\

Available Option
Available options for the interaction label include
* Interact
* Interaction
* Interaction entity
* Etc.

Thelnheritance L abe

We use the inheritance label to show an entityititagrits another entity. For instance,
we can use the inheritance label to show philosapigritance. In this case we use it to
show philosophies that come from other people etifip time or date. The label can be
rotated or flipped to reflect our direction.

4 Inherit Inherit >
4 \ Not Inherit Inherit
\

Available Option
Available options for the inheritance label include

* Inheritance

e Inherit

« Come from

* Pass through
 Etc.

The Allocation L abel

The allocation label is used to show a theoremithallocated in a theory. For instance
in a theory, we can use the allocation label ticiaue the theorem that we select to apply.
Refer the entity usage section to learn more atth@uallocation label. Again, this label
can be flipped or rotated to reflect our directidle can also change the text on the label
to reflect anything we want to say. For instanescan change tha¢locate word to
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select, set, flag, flag to apply, select to apply, set to apply. We can also negate it to
reflect a theorem that is not allocated in a theory

allocate > 4 allocate
4 \ Not Allocate Not Allocate 4 >
\ /

Available Option
Available options for the allocation label include

» Allocation
» Allocate
e Select
 Choose
 Etc.
The Push to Apply L abel

The push to apply label is the same as the alldab#&s. It shows that in a theory, we
push a theorem to apply. This is the same asgalyat in a theory, we select specific
theorem to apply. We use this label when a thecpnnected to the apply entity. In
this case, we can select specific theorem to ppgb the apply entity so we can apply it
to execute a function. The word in this label barchanged similarly to the allocate
label to reflect what we wan to say. We can digatfor rotate it to reflect our desired
position as well.

push up
push up

The Symbol I dentification L abel

We can use the symbol identification label to smoare information about a symbol.
For instance we can use the symbol identificatatrel with equation to show more
information about the symbols use in that equatidgain we can flip it or rotate it to
reflect our desired direction.

Label * * Label

The Direction Label

We can use the direction label to show where wénaagling. For instance, assume that
we are in the downhill process; we can use the dawow to show that we are heading
the opposite direction of the house. In this cagecan use with the road entity to show
that. If we are heading to the direction of thed® we can use the up arrow label with
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the road entity to show that. We can also useaiteetion label with both the uphill
graph and the downhill graph to show where we asslimg.

While we use the direction label to show where veeheeading, in terms of our direction
and our destination, we can also use the diretaioels shown below to show entities
that go up and down. For instance, if an entityses another entity to go down while
that entity is going up, we can use the label balmghow that.

up down

The Association L abel

The association label can be used to show an ¢hstyassociates with another entity.
Given that a system must associate with a theooyder for the theory to work on that
system. Given that a system must associate wtkay in order for that theory to be
used for that system, we can use the associatieh far example to show a theory that
associates with a system or a system that asseeidtea theory. The label can be
rotated to our desired direction.

4 Associate Associate >

4 \ Not Associate Not Associate/ >
\ /

Available Option

Available options for the association label include
* Association
* Associate

* Related
+ Relation
 Etc.

The Expansion L abel

We can use the expansion label to show the expans$ian entity. For instance, we can
use the expansion label to show how a theory exptmahultiple theorems. The label

can be rotated to reflect our desired positione Txt on the label can also be changed to
text that we would like to use.
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Available Option
Available options for the expansion label include

* Expansion

* Expand
* Increase to multiple
* Etc.

The Continuity Entity

We can use continuity whenever it is necessarpowvghe continuity of an entity. For
instance, we can use the continuity entity showoag of people. We can also use
continuity to show the continuity of theorems ithaory. Whenever and wherever it is
possible, the continuity entity can be used. Asaghbelow, the continuity can be
formatted however we want to reflect what we waoig. For instance to show a group
of people that apply theory to derive or executengtion, we can format the continuity
in an arc form to show the continuity of the peaplesystem applying theory.

® )
® ° °
¢ e e ©o P P
[ J
The Grouping Entity
Group +

Usage and Description

www.speaklogic.org Copyright © 2011The Speak Logic Project 85




We can use the grouping entity to group entitiésr instance, we can use it to group
functions and other entities. Refer to the eniggge section for more information about
using the grouping entity.

Available Option
Available options for the grouping entity include:

* Group
e Addition
 Etc.

The Problem Entity

Problem

@ Tr [T] =Ti(t)

Negative
Philosophy

Usage and Description

While it may not be necessary, however it we wantve can use the problem entity
listed above to show the development of a probkemm fa negative philosophy. Since
the applications of negative philosophies are @ois, we can use the circle with the
arrow to show a problem that is development fromegative philosophy. In this case,
we can label the arrow; identify the problem, amel philosophy. For instance if
negative philosophy one gives rise to problem ¢men we can show the following in the
problem entitynegative philosophy one, givesrise, problemone. The operation on the
left is the same as the one to the right. It singdites that a faulty function is a result of
application of negative philosophies.

Since negative philosophies are problems themselvegroblem entity with the give
rise arrow, the negative philosophy name, and thblpm name can also be replaced by
the name of the problem instead. In this casesimely use a circle and put the name of
the problem in it to show that problem. We cam aise an ellipse as well. The diagram
below shows what we have just said.

Problem A
Problem Name Problem Name

Since a group of problem is a problem, we can aésoa circle to show a group of
problem. In this case we can put each problem naraeircle inside another circle. We
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can also do it for ellipses as well. This is theywo look at it; we use the problem entity
which is basically the negative philosophy to steoproblem. Since many problems are
also one problem, we can use the same entity & she problem. In this case, we
simply put many entities inside one entity. Inetlvords, we use the problem entity to
show many problems. The diagram below shows wiedhave just said.

Problem

Problem

Problem

If we want to, inside the problem entity, we casoalise the corresponding problem name
to show each individual problem. We use the diagbalow to show that. Rather using
the name problem, we simple use the correspondoiggem name. We can also use the

word problem follows by the specific problem name.

Problem
Probl One
rovtem Problem
Two g
Six
Problem
Four
Problem
Seven

Problem Problem
Five Ete.

Problem
Three

Problem Name

Problem 10
Problem 9
Problem 1 Ll 1 Problem 13
Problem 8

Problem 7

Problem Name

If we want to, we can also provide a table withadggion for the problem. In the table
below, we provide the name of the problem and #szdption of the problem.

Problem Name

Problem Description

Problem one

Description one

Problem two

Description two

Problem three

Description three
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Problem four
Problem etc.

Description four
Description etc.

We know that problems happen as the result of hegphilosophies. We also know that
problems expand and they also multiply. In thisecave can use what we know about
problems to show more information about our prolslee expand the table above by
showing more information in the table below. le table below, we show the problem
names, the problem descriptions, and the locatloegoccur.

Problem Name Problem Description Problem L ocation
Problem 1 Description 1 Location 1
Problem 2 Description 2 Location 2
Problem 3 Description 3 Location 1
Problem 4 Description 4 Location 3
Problem etc. Description etc. Location etc.

We know that problems are the result of negativibpbphies. In order for a problem to
occur, a faulty function must be executed. In otherds, a problem must have an origin
and the origin is the application of negative phiphy by a person. In this case, we can
call the origin of the problem the basis of theljpeon. We use the word basis to show
the origin of the problem by a faulty function whiis the result of negative philosophy
from a person. In this case, we can say thatrbielggm is generated by that philosophy.
That problem is the initial problem by that philpsg. Since philosophies are problems
themselves, we can say that philosophy is thealmptioblem. Since the solution of a
problem is the application of our parent principéich is the opposite of negative
philosophies that develop it, we can also sayrikegative philosophy is the initial
problem. In this case, we can use that informatoshow more information about the
problem. The table below is an extension of tidetabove. It shows more information
about the problems.

Problem Name | Problem Description | Problem L ocation Initiated By
Problem 1 Description 1 Location 1 Philosophy 1
Problem 2 Description 2 Location 2 Philosophy 1
Problem 3 Description 3 Location 1 Philosophy 1
Problem 4 Description 4 Location 3 Philosophy 1
Problem 5 Description 5 Location 4 Philosophy 1

From what we know about problems, we know that jgmols multiply, but they also
expand. In other words, a problem can expanddaterother problems. In this case, we
have an initial problem, but we also have othebfem that are developed from
problems that caused by the initial problem. Ftbetable above, the initial problem
was identified as philosophy 1. Now, to show tkpamsion of problems, let’s provide
more information from the same table above by edanit to the table below. In this
case, let's disregard the location of the problsimce it is not of our concern for now.

| Problem Name | Problem Description | Initiated By |  Other Philosophy |
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Generated
Problem 1 Description 1 Philosophy 1 ~ Philosophy 2
Problem 2 Description 2 Philosophy 2 Philosophy 3
Problem 3 Description 3 Philosophy 3  Philosophy 4
Problem 4 Description 4 Philosophy 4  Philosophy 5
Problem 5 Description 5 Philosophy 5  Philosophy 6

While we use the tables to show how problem caexpanded and multiplied, if we
want to we can also use the problem entity witloict show that. In this case, we can
use a constant color to show the initial problerilewe can change that color to show
each other problem that is generated based omitied problem. The diagram below
use color to show the multiplication of the initpabblem as well as the expansion of
other problems caused by each other problem. \Wehesred color to show the initial
problem.

Problem
‘ Four

Problem 13
Problem 12 -
Problem 7 -

Problem 3
Problem Etc.

Problem 5

Problem 6

Problem 4

Problem Name

Problem Name

If we want to, we can expand the table to showpthilosophy that generates a problem
and the origin of that philosophy. The table bekend the above table by both
showing the problems and the philosophies thatrgém¢hem and also the origin of
those philosophies.

Problem Name | Problem Description | Generated by Origin of Philosophy
Philosophy

Problem 1 Description 1 Philosophy 1  Person 1

Problem 2 Description 2 Philosophy 2 Person 3

Problem 3 Description 3 Philosophy 3  Person 1

Problem 4 Description 4 Philosophy 4  Person 4

Problem 5 Description 5 Philosophy 5 Person 2

Since problems are multipliable and expandabladutition to the way we show the
problems above, we can also show them in a reclanfgum. In this case, we can show
the initial problem as the input to the rectanglbere all the other problems are
considered to be derived problems as shown byilggain below.
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Problem Name

We have previously shown a group of problems ablpnes, here we provide another
way to show a group of problem as philosophy. Bwg this form of grouping below,
we can show a group of philosophies related tg#rson who adopt them. As shown
below, we can also use names of those philosophieplace them or use them win
index.

If we wan to, we can also use arrow with thosegsduiphies to show where they point to.
In the diagram below, we use arrow with those @afthies to show where they point to.
Both of the diagrams are the same, except in otleeoh we group all those philosophies
into one group. We use arrow with the philosophiegrovide more information on the
underlined system. The arrows can point to angctiion, which depends on the
information.
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Philosophy 2
Philosophy 5
Philosophy 1
Philosophy 4

Philosophy 3 Philosophy 7

Philosophy 6

Group of People Applying Theory

Since life is an associative system, we work asgiwely to enable the functionality of
life. The associativity relationship is also exted to our application or project we work
on. Forinstance in an application or project,ftirection of one person can depend on
function of another person in that project or agadion. In addition to that, if we look at
the overall project or application, we can alsotbe¢ it makes up of functions of the total
people who are in the project or application.

We know that the result of the project or applieatis a function of life. We use the
linear form of system applying theory to show tpelecation of theory by the group of
people who are in the project to result to the fiamcof that project. Since theory is
independent entity, each person in that applicatigoroject must apply theory
independently to execute functions that contriltiéeoverall function of the application.
From what we have just said, we can show thosel@&op circular form. The diagram
below shows a group of people applying theory iraelently to result to the function of
the application. The diagram below assumes tleaptbject is made up of six people and
theory gives those people ideas to execute furetidthe application. Both of the
diagrams are the same. The form below can alsséa@ with continuity if space is an
issue to show group of people applying theory.
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Theory ——»
<4+— Theory

Person 2

Person 1

Theory ——» g
47 Theory

Person 3

Person 6

Theory ——» @
g <4— Theory
Person 4

Person 5

Since in the application the function of one persan depend to the function of another
person, we can use we can use an arc with arrewaw that dependency. In other
words, since in the application, the function capehd on the function execute by
another person, we can use the arcs below to dtetvdépendency.

DD

The diagrams below show the dependency in termsnations; both of them are the
same. If we want to, we can also interpret theasrcommunication. We can also think
it like that, while people in the project commun&#ogether to execute functions of that
project, however they apply theory independently.
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Theory ——»
<4+— Theory

Theory ——» g

g <— Theory

Person 3

Person 6

Theory ——» @
Theory

Person 4

Person 5

Graph Axis
We can use the graph axis below to show the pedoceand the execution of a
function. Previously, we have use the graph agliew for both the downhill and the

uphill process.

function

time

Let’s assume that as age increase, so doe’s gtahié can use the axis above to show
that. In this case, we can use the axis with getigpshow that. We can also use dot or
line to show that. Below, we use the graph axshtow the increase of age related to the

increase of stability. This is simply an assumptio
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Function Termination

age —p»

u(t) Fundiion

Usage and Description
The function termination entity can be used to stiwsvtermination of a function. In this
case, we use the function termination entity too#eia function that is no longer

executed. Assume thak (t) used to be executed in the application§y if §is no
longer in that application dnl(t) is no longer a part of that application, thersit i
possible for us to show the terminationug(t) in the form ofu,(t) . In other words, by
putting a bar below a function, we can show theteation execution of that function.

Available Option
Available options of the function termination eptihclude:
* Function termination
» Stop function
» Function under bar
- u(t)

 Etc.

Grouping Entities

While we use the grouping entity to group entitigs,can also show a group of entities
in term of quantity next to each other. For exampé can use two or three people next
to each other to show a group of people. We csm e some quantities of the physical
system to show a group of system. The diagranmbgthow some examples of
grouping the physical system.
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In addition to the way we show a group of peoplevah we can also use continuity to
show a group of people. In this case, we don’ehtavshow everybody in the group; see
the diagrams below for the usage of continuitytiove group of people.

X% N

The diagrams above are similar to the ones belowhe diagrams below, we use
continuity to show a group of system. There iglifference between the ones above and
the ones below, except we use different system edtttinuity to represent a group of
people. The way we represent the system belowrig wseful especially when modeling
on a drawing board or a piece of paper.

SS,Sy « - SSSe « +S,
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In the diagram below, we show another way of grogg@ntities. Rather than using the
grouping entity, we simply we simply use this foofngrouping to group natural
elements, input elements, and all other entitiasd¢hn be grouped in this form.

Natural Elements Input Elements F F

External Functions

If needed and desired, the following entities carubed to show an external function in
the project or application. An external functisrconsidered to be another function from
an application or a project that is a part of fmatction. An external function can also be
considered an outside function that is a part efdinrrent application. The external
function can also be viewed as an outside fundhiahis needed for the current
application. We can use any of the entity belowrow an external or outside function.

u(t) function external function

Function Container

The functional system, life is made of existing aaded functions. As we have seen
from the functional system entity, there is an dogaexisting function; there is also an
area for added functions. We also use the worthawer to name the area that contains
the functions. While we can use the grouping gmtitgroup our functions, if desired we
can also use container to group our functions dls Wae diagram below shows a
function container to the left and one to the rigfmbws functions that include in that
container. In this case we can say the contamtre left is empty. Refer to the example
usage section for more information about using tionccontainer.

Function 1

. Function 2
Function netion

Container Function 3

Function 4

Horizontal View of Theory

A theory can also be shown or viewed in horizofdah. For instance we can use the
horizontal view of a theory for explanation purpesel depend on orientation where we
model our application. The diagrams below showhibrézontal form of a theory.
Disregard the way we represent a theory, the theorie that theory can be grouped or
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shown in group. The second diagram shows the gfemtheory in horizontal form with
the usage of grouping. Refer to the example seétiomore information about grouping
theorems in theory.

Th Th, ' Th, Th,

s /mﬁ) I
T Th Th Th Th Th Th .- Th,
\_ / N J

Y
Group 2 Group 3

Equation Entity

The equation entity can be used to show an equatioa computer screen, the equation
entity can be used to show an equation. It mayaatecessary, but if needed the
equation entity can be used on a drawing boardsbeat of paper to show an equation

while modeling a project.

N X Equation

Information Table

We can use information table to provide more infation about our application.

Assume that we are working in a project where weehraultiple people applying theory
to derive multiple functions. Where the main fuoctof the project is the total functions
of those people, we can then use the informatible t® show that. The diagram below
shows the usage of the information table wherartam function of the application is
made of three functions. Each function is theltexfla person applying theory. From
the table, we show the name of the person, systiémidex equivalent, and the resulted
function. Both of the diagrams are the same.
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System Person Name Person Function

%_ Name | function 1
SZ Name 2 function 2
83 Name 3 function 3
System Person Name Person Function

% Name 1 Ul(t)
SZ Name 2 U2 (t)
S\,’ Name 3 U3(t)

In addition of using the information table, the eddble can also be used to provide
information for a node or specific link. In theetiry domain, a node is considered to be
an important point which is related to the flowtloé principle. We can also say that a
point of the flow of the principle related to thenttion of that principle.

While we use the information table above to provig@e information about some of the
entities we use to model our application. Thenoislimit in term of what type of
entities we can use on the information table. ifstance, we can use the information
table if we want to with the derivative entity toogide more information about the
function of that derivative in our project. Referthe example section for more
information about using the information table.

While we can use the node table to add a nodeliok,ave can also use a node next to
an entity to provide more information about thaitgn In this case, the node in that table
can refer to that entity to give more informatidooat it in the project. For instance, we
can put a node next to the derivative entity tosge more information about that entity.
In this case, we use the node table to show thag aad the information about that
entity.

Rather than using node table to show informatiospecific link, we can also use callout
to show information on that link. For instance, @& put a callout between the theory
entity and the apply theory entity to provide mmf@rmation on that link. In this case,
we mean the link that connects the theory entitythe apply theory entity.
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Some Entity Usage Examples

In this section, we provide some examples on houstthe entities. In some of the
examples, we will connect some entities togethehtmv how to use them.

Example Number 1

The theory of education is a set of theory; itisba set of theorem. The first diagram
below shows the theory of education as a set @iréme, while the second ones shows it
is a set of theory and each theory in that setatesitsome principles. The last diagram to
the right is basically the same as the first omeept it does not have the continuity and it
shows a different view.

Theory Education

Theorem 1

Theorem 2

Theorem 3

Theorem 4

www.speaklogic.org Copyright © 201 1The Speak Logic Project100




Theory Education

Theory 1

Principle 1

Principle 2

Theory 2

Principle 1

Principle 2

°

°

Theory Education Theory Education
Tl Theory 1
T2 Theory 2

Theory 3
T3
T4 Theory 4
T5 Theory 5
Theory etc.
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Example Number 2

Below we show the expansion of the functional systerectangular format. Both of the
diagrams are the same. In the first diagram tdettewe show two areas: the existing
functions area and the added functions area.

L(t)

hi(0) L(t)
h(t) hi()
hi(t) 20)

: (1)

4o o
UaA?) U(?)
Us(0) (1)

Example Number 3

The diagram below shows two domains identificatmme domain to the left and one
domain to the right. We use the information latbbeshow more information about the
domains. In the second diagram, we identify th@aas as our parent domain and our
domain. Again, we provide more information by gsthe information label. In the
fourth and the fifth diagrams, we then provide miafermation about the domains. We
show that our parent domain is connected to ouraitothrough the flow of the
principles. The way to look at it, in term of knioyg or the principles, we don’t know
anything about our parent domain, except that wveect to our parent through the
principles. We can also say the only connectiorhase with our parent in term of
domain is the principles and the principles floanfrour parent or our from parent
domain to us. In the last two diagrams, we simptgite the domains.
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Domain Domain
one two

N \_/

This is a domain . .
This is another domain

Our parent Our
domain domain

This is our parent domain \_/

This is our domain

Parent Children
domain domain

This is our parent domain u

This is our domain
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Our parent
e [ . —> Our
domain »  Principles ———p| domain

This is our parent domain \_/

This is our domain

—>
Our parent | > | Our

domain > U T > domain

@

This is our parent domain \_/

This is our domain

. Our parent
Domain one domain
Domain two Our domain
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Example Number 4

The diagram below represents the theory entityo\B&e show the usage of the theory
entity. The theory entity is a set of theoremaclttheorem is considered to be an entity.
From what we have just said, we can see that gmyrentity is a set of entities, but
those entities are theorems. In the second diggra@nsimply show the expansion of the
theory entity. The second set of diagram showsthigatheory entity expands to
theorems, which we can also call principles. mtthird set of diagram, we use the
expand label to show how the theory entity expaadseorems.

Theory T
Th
- T Theory
Theorem 1 .
Thy Principle 1
Theorem 2 o
Thy Principle 2
Theorem 3
Thy Principle 3
Theorem 4 e
3 Principle 4
Theorem etc.
Thy Principle 5

Theory T flheoy
o
S
S
NS
3
Theory T Theory
Theorem 1 Th;, Principle 1
Theorem 2 Th, Principle 2
Theorem 3 Th, Principle 3
Theorem 4 Ths Principle 4
Theorem etc. Th, Principle 5
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Example Number 5

In our application, we can show a list of theorenthie theory entity. Among those
theorems in the list, we can select specific thesreo apply to execute specific function
or derive specific method or instrument. We camthe allocate label or select to apply
label to show theorems that we select from spettiBory to use in our application.
Below we use the select to apply label to seleetifis theorem to use in our application.
From the diagram below, we can see thabrem 1 is being selected to apply in our
application.

Theory

Theory
Theorem 1 J Set 1o apply Th, 4 Select to apply
Theorem 2 Th,

Theorem 3 Th,
Theorem 4 Th;
Theorem etc. Th,

Example Number 6

The theorem entity from the theory entity can gige to multiple methods. In other
words, from a theorem, many, many methods can beede We choose how to apply a
theorem to get methods that we need from it. Ththods we get from a theorem
depend on how we apply it. The diagrams below stimattheorem 1 that we have
selected to apply from the diagram above, givestosseveral methods. The way to look
at it, fromtheorem 1 above, we haveethod 1, method 2, etc.

Method 1 Method 2 Method etc.
A A A
Theorem 1 Theorem 1 Theorem 1
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Example Number 7

The diagram below shows the grouping of the theoitity. Since the theory entity is
considered to be a set of theorems and those theaee considered to be entities
themselves, it might be possible for us to grogotems in a theory. The diagram below
shows the usage of the grouping entity to show graguof theorems in a theory. The
group name does not matter. We can name the gineupame we like. Refer to the
group entity section for more information.

Theory Theory T
Theorem 1 Principle 1 Thl
Theorem 2 Group A Principle 2 Group 1 Thz Group 6
Theorem 3 Principle 3 Tf'b
Theorem 4 Principle 4 Th4
Theorem 5 Principle 5 Th5
Theorem 6 Group B Principle 6 Group 2 Ths Group 4
Theorem 7 Principle 7 Th7
Theorem 8 Principle 8 Tf'b
Group C Theorem 9 Group 3 Principle 9 Group 7 Thg
Theorem 10 Principle 10 ThI.O

Example Number 8

In this example, let's assume that in our projeat, function of one person is to apply
theory to derive a method or instrument. Let'suass that the person applies theory to
derive a method. From that application, the peeguplies theory to derive the method
from natural elements. In other words, the peegmulies theory to derive a method from
some types of natural elements. From what we hestesaid, we can draw the entity
diagram as shown below. The diagram below is ppli@ation. In consists of three
natural elements. Those natural elements aretosidetive the method we are required
to derive. The output functiou(t) is the function of the method produced by our

application. We are going to continue this exaniplprovide more information about
each entity we use to derive the method. In otfeeds, we are going to provide more
information about each entity we use here.
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4
NE >
NE + s ™
NE >

Example Number 9

This example is a continuity of the above examphethis example, we are going to
provide more information about the applicationtod theory by the physical system to
derive the underlined method. To better understaiscexample, we have to provide
another entity diagram to show the theorems intipuethat will be applied to derive the
method. We know that a theory is a set of theoramasfrom a theory; we can select
multiple theorems to use to derive an instrumemhethod. To better understand this
example, let's expand the theory entity to seestHected theorems that will be applied to
derive the method. From the diagram below, wesesnthatheorem 2 andtheorem 4
have been selected by the physical system to dpeltheory to derive the method. In
other words, the person who works in that applcatiill usetheorem 2 andtheorem 4

to derive the required method.

S » T.{}

!

Theorem 1

Theorem?2 | 4— A
Theorem 3 MDF > M MF - U(t)

Theorem 4 <

Theorem 5

NE >
NE o+ e M
NE

Example Number 10
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This is a continuity of the example above. In #gxample, we are going to provide a
table to list the entities that we use for the maplon and why we use them for.

Entity

Entity Name

Entity Description and Function

The physical systen

The physical system is a theory dependabl
system. The physical system can apply
theory to derive a method or instrument. In
nthis example, we indeed verify the theory
dependable characteristic of the system by
showing that the system can apply theory t
derive a method or instrument.

NE

Natural element

In order to derive a method or instrument,
some types of input elements are needed.

inputs. Those inputs can be in the form of
natural element, natural resources, inputs
elements, parts, energy etc. What is import
here to note, while the physical system is
theory dependable, however the system
cannot derive anything without some types
input. It is very important to understand the
importance of this entity. We mean the
importance of the natural element entity. T
way to look at it, we can not derive or make
anything without some types of inputs or
natural resources/elements.

v
dT

Method Derivative

The method derivative entity denotes the

input elements that use to derive the metha
Now the theorems that will be needed to
derive the methods have been selected, thg
person in question must show the usage of
those theorems related to the selected naty
elements. In other words, the derivative
entity shows the usage of the selected

theorems related to the selected natural
elements. We can also say that the derivat
entity shows usage of the natural elements
with the theorems that derive the method.

While we have already provided more
information about the theory entity from the
previous example, nevertheless, it is

worthwhile to provide some more explanati
here. The theory entity provides us with th
set of principle that will be used to derive th

can also say those input elements as simply

D

O

We

ant

of

application of theory or theorem related to the

d.

11%

iral

ive

1%}

e

method. Since the physical system is theo

'y
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dependable, in order for the system to execute

Theorem Theory a function or derive a method, the system
Theorem 2 < needs theory as input. In other words, in
Theorem 3 order for the system to execute or derive a

function, the system needs theory to get ideas
Theorem 4 < from. Itis very important to understand the
Theorem 5 system itself related to theory.

We simply use the grouping entity to group
the natural elements that will be used to
derive the method. While we group the

+ Group natural elements in that form, we could have
also grouped them in a form one on top to
each other. Here, it does not matter the way
we group the elements.

The apply theory entity tells us how we apply
the selected theorems to derive the method in
question. In this entity, step by step
T { } instruction can be provided on how the
r Apply Theory selected theorems were applied to derive the
method in question. Since communication |is
not limited, there is no limit on how the
application of the theorems in question can| be
described.

From the entity diagram, we can see that the
method derivative function has input from
both the apply theory entity and the derivatjve
MDF Method Derivative | entity. Usually, the method derivative
Function function shows us the derivation of the
method in question related to the applicatign
of theory. In this entity, we provide more
information about the method that will be
produced by the application of theory.

The method entity is simply the method that
is produced by the method derivative function
M Method related to the application of theory. Here, we
can provide more information or descriptior
about the method that we produce.

The method function simply tells us the

function of the method that we derive by
Method Function | applying the theory. Since we apply theory to
MF derive a method, that method must have a
function. If we have applied theory to deriv|
an instrument, that instrument must have a

[¢)
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function as well.

The output function simply tells us the

a function; we know that function is a

function of life that tells us the function of
what we have derived.

function of the method that we have derive
u(t) Output Function | Assume that we have applied theory to der

function of life. So the output function is a

Example Number 11

In this example, we are going to make some assomgptiAssume that after applying
theory to derive the method in question, and tkaltave get is not what we expect.
Now we need to make some adjustments to our apiplicaln term of making
adjustment to our application, we have three ai@asrk on: the theory entity which
includes the selected theorems that we used ty &pplerive the function, the derivative
entity that we use with natural element to derhemethod, and the apply entity that
tells us how we apply the selected theorems toveehe method. By looking at all those
three entities, we can see that the theory erstitpt adjustable. In other words, the
theorems that we have selected to produce the ohettannot be adjusted by us. We
cannot adjust theorems from a theory to produadtréésat we expect. We cannot adjust
theorems from a theory to produce what we wante theorems from a theory are not
adjustable.

From the above paragraph, since theorems fromh#wy entity are not adjustable, we
have left with two areas that we can adjust to pi®the result that we might expected.
Since the derivative entity enables us to useelexted theorems related to the input
elements, depend on our result, the input elentkatdeed this entity can be adjusted to
reflect our application. In this case, we keepsélected theorems fix, but we adjust the
derivative entity related to the input elements.

Now, assume that the derivative entity is fine amdcannot adjust the theory entity, we
can then move to the apply theory entity. The agptory entity, is where we apply the
theory to derive the method. In this entity, wewsthow we apply the selected theorems
to derive the method. This entity is very adjubtablated to ourselves. From what we
know about theory, application of theory and thggital system, we can adjust this
entity accordingly to provide us with the result ngve expected. For instance, any error
we make in the apply entity, would affect the resfilour application. In this case, if we
make an error in the application of the theory,cale then make changes to it to reflect
the desired output function.

Example Number 12

From the previous example, we have learned thaht@ems from a theory are not
adjustable. It is very important to understand.th&e can develop a lot of problems
when we fail to understand that. By having a gooderstanding of the above example
and also the previous two examples, we can seé¢hhaheorems that we select to derive
the method do not decide the method. In other sydiee application of a theorem is
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decided by us, but not by the theorem. We cansagdhat the application of a theorem
is decided by the application itself, but not bg theorem. The application of a theorem
is not decided by the theorem itself, but by us thredapplication.

Here is the way to look at it, we know that a tlegorcan give rise to multiple methods.
In other words, while we select a specific theoterderive a method or instrument,
nevertheless that theorem can be used to deriee otethods and instruments. From
what we have just said, we can see that the abilithe theorem to give rise or derive
multiple methods is not from the theorem itselft fsam the person who applies that
theorem. For instance, while a person can athgtyrem A to deriveMethod A, another
person can applheorem A to derivemethod B. If we look at the process, we can see
thattheorem A is not limited to how many methods it can produ@ée can see that the
application oftheorem A depends on what is being used for or the persanapblies it.
It is very important to understand that. Sinceoteens are not application specific, in
many instances we can treat them as generic eridyinstance, we can say that a
theorem is generic to any method or applicatios lteing used for. We can also say
that, the theorems include in thedryook like theoryT without any application. The
theorems that are in theofylook like theoryT without any application.

Example Number 13

From the two previous examples, we have learnddhlaheorems are not adjustable
from a theory. The entities that can be adjustedree apply entity and the derivative
entity. By having a good understanding of theapplication of theory, and the physical
system, we should have already known that the éme®entities or the theory entity
cannot be adjusted.

Let’s think about the above paragraph and providesmexplanation here. We know that
the physical system is theory dependable. In datahe physical system to execute or
derive a function or an entity, the system mustyagieory to do so. In other words, we
can simply say theory gives us ideas to do whatleveln this case, we can also say that
the theorems selected by the physical system tly &apperive the method, provide ideas
to the physical system to enable the system twel¢hiat method. Now, if we look at the
overall process related to the physical systemilgtalive can see that adjusting the
theorem entities to derive the method would reqthiessystem to adjust his/her ideas as
well. In other words, if it would have been possitor the theorems to be adjusted, the
person who applies the theorems to derive the rdetfomld need to adjust his/her ideas
accordingly. That makes sense, since the seléwdedems provide ideas to that person.
Now, in order to look at the importance of not atijug the theorems, we have to look at
the stability of the system in this case. Thedelktheorems for that application are
considered to be the basis for that applicationthis case, the person in question thinks
relatively to those theorems. Any fluctuation bode theorems would require
fluctuation in that person mind. When we lookletttprocess, we can see instability all
over. For this reason, it is not possible to adjos selected theorems. It is very
important to understand that process; from whakmev about theorems and theory as
well, they are not adjustable entities.
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By looking at the paragraph above, if the theoremse going to be adjusted, the
possibility of error correction would be very ddtilt. Keep in mind that, every time we
adjust the theorem, we would need to make chamgiee iderivative entity and also the
apply entity. If we look at the overall procesg van see that it is much easier to adjust
the apply entity and the derivative entity relatedhe input elements rather than
adjusting the theory entity. It is very importaotunderstand that. By thinking it that
way—theory and theorem are adjusted—it can be @#figult or even impossible to
derive an error free application.

Example Number 14

From example number 12, we have learned that tpkcapion of a theory is not decided
by the theory, but the person who applies thatrthetn other words, the application of
theorems to derive a method is not decided byédlex®ed theorems, but by the
application or the person who select those theardmis very important to understand
that.

From the above paragraph, we can see that a theaetne viewed as a generic entity.
In this case, theorems from a theory are openady@pplication. Those applications
depend on the people who select those theorenpptp. alt is very important to
understand that. To better understand what we &@de to better understand whether or
not theorems in a theory are generic, a betterrstateding of theory communication is
needed. From what we know about the relationshipemry and theory communication,
we know that in a theorem, there exist two pahs:theorem part, and the
communication part. It is very important to undansl the communication part of the
theorem and the theorem itself. Whenever we usevtird generic here, we mean that
the theorem is presented in a generic form. Wighrelationship of theorems and theory
communication, we know that the presentation obty¢akes theory of communication
into consideration as well. In this case, we etbat the generic of a theorem depends
on the theory communication rather than the theatself. In other words, while the
theorem can be generic, however it must be predemte form to be generic. In other
words, the theorem must be presented in a formrenthe application of the theorem is
not decided by the theorem. We can also sayttiatheorem does not sense or looks
like its own application. It is very important tmderstand that; that may require a very
good understanding of presentation and interpoetadf theory as well. Since a very
good understanding of communication may be requoqilit a theorem in a generic
form and our communication is very limited rightwynoFor now, we don’t have to worry
about this topic or this example. This example lbasimply disregarded or most of it
can be disregarded.

Example Number 15

In this example, let's expand the previous diagtanmclude more people in the project
applying theory. In this case, assume the apjdicas made of three people and as usual
each of them has his/her own function. From whahave just said, we can see that the
overall result of the application will take the @iions of those three people into
consideration.
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From the above paragraph, this is what we knowe firkt person applies theory to
derive a method, which is a function of life. Tiaction that is derived by that person
takes 3 natural elements as input. Now, let'srasstinat the functions derived by the
second person will tak&vo input e ements as input while the function derived by the
third person will take only on@put element as input. From what we have just said,
below we show the diagram of the application f& $kcond and the third person.

Sg > Tr{ }
4
T
MDF » M » MF ———u()
Y
IE —»
P
IE —»
S » T}
4
T A
MDF » M » MF —»ust)
4
am
IE > i

Example Number 16

Now given that the function of thee people musttmbined to produce the result of the
overall function of the application, we can combinem together to show that. It is also
good to note that the function of the first per&ononsidered to biinction 1, while the
function of the second person is considered ttubeion 2 and so forth. We can use the
grouping entity to show the grouping of the threections. We can also use function
grouping similarly the way it is shown on the fuooil system diagram to show the
grouping of the overall functions. The first diagr below show the grouping of all the
three functions combined. This is simply a coritynaf the previous example. All that
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we do here combining the functions of the threepfeeto result the function of the
overall application.
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Example Number 17

From the example above, we combine the functich@three people who apply theory
to derive methods that combine to form the resiuthe application. Now by looking at
the overall diagram above, we can see that grougntijes can also be used to reduce
the size of the diagram. From the diagram abdwesired, the natural elements can be
grouped and the input elements can also be graipediuce the size of the diagram if
space is an issue. In addition to that, we carthessystems apply theory to derive
functions to reduce the size of the diagram ale well as, we can also group the people
who apply theory to reduce the size further. Gndlagram below, we use the systems
apply theory with functions combination to reduke size of the diagram. Both of the
diagrams below are the same. The first one wisithe same as the one above shows the
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resulting function is a combination of the threadtions that make up the overall
application. The last diagram shows the groupinip® three people who apply theory to
produce the function of the application.

S, Tr{ }

. U
S — T{} > uo |—Ppu)

T SR I V()

S; > Tr{ }

F% T{} — pu@d

Example Number 18

From the previous example, we see that three pewple/orking together to derive a
method, where the resulting method constitutesation of each person. From the
diagram above, we show the output function. Wthieeoutput function shows the
function of the method, it is always good as welshow the actual method. By using the
function to method entity, we can show the actuathod that is produced from the
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resulting function. The diagram below is similarithe one above, but it shows the
resulting method after grouping.
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Example Number 19

We have defined our problem statement relativelyuiooperating principle. From our
operating principle and our problem statement, axeldefined our basis of operation
relatively. In other words, our basis of operati®mnelated to both our operating principle
and our problem statement. Within this project,aretaking about the current project
we are working on now; our basis is related toetkecution of the overall function of the
application. In other words, the output functitsown on the diagram above.

While we are working on this project, we were netige of our parent principles. In
other words, while we were working on this projeet, did not know much about our
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utilization theory—we mean the given set of prihegothat enable us to work together to
enable the functionality of life. We did not kn@amything about the physical system and
its constant characteristic as well. In additionhat, we did not know anything about
theory and characteristic of theory. By undersitagavhat we have just said here, we
can see that we have been putting things togetfteassume that they would work, but
we did not have enough confidence on the procesdaf we were doing. Assume that
many questions were asked to us about the physisem, theory, application of theory,
characteristic of theory, and the functional systes would not be able to answer them,
since we were not aware of the principles that Enad to understand those entities.
Now that we are aware of those entities, now thestwe aware of the existence of the
principles that enable us to understand the funatieystem, what we do, the physical
system, the physical system constant characterisgory, characteristic of theory, and
application of theory, we must define our basiatreély to our understanding of those
entities. In other words, we define our basistietdy to our understanding of our
utilization theory relatively to what we are doing.

Now that we are aware of our utilization theory arelwant to take it into consideration
in what we are doing, we have to work things owbading to our understanding. If we
look at the overall process related to our undedstey, we can see that we cannot jump
to the level that we expected at this time and itat possible. In other words, we expect
at some point of time to be at 100% of our basis ab this time, it is not possible or
practical. We can also say that, our physicalattaristic does not allow us to learn the
principle instantly to be at the level that we estpbut incrementally, we can be at that
level. For that reason, we assume that we ateeimight direction to our basis and
assume that our basis goes to 100, and then weseaa number in the range to define
our current level. Don’t worry about any number et®ose, it does not mean anything
on paper or on a computer screen, practically, seethis number to indicate our current
level toward our basis. In term of number, lete &2 or simply 0.5. In other words,
from O to 100, we are currently at ¥z or 0.5. Wsuase that at 100, we are going to be
100% stable. Let’s show our current level reldtedur basis of operation graphically. It
is very important to understand the %2 number rdlagel00. The %2 number is our
instant goal, while 100 is our long time goal. farthe chart belowk goes to 100.

i4—-———— - —

time
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Example Number 20

From the above example, we have defike our basis of operation and it goes to 100.
While our long term goal is to rich number 100 @ihe time, but at present time we want
to rich number %. Basically, ¥z is the number weevaorking on to be. Assume that our

output functionu(t) is independent to any other function or any o#reity, we would

not need to go farther to rich that number, sihesd will be no other dependency. Since
our functionu(t) requires additional entity or functions to enaldeto execute our own

functionu(t) , we must take those entities or those functiotts ¢éonsideration in our
model and analysis.

As stated above, our output function is not indeleait; it needs other external entities to
work with. We must take those entities into coasadion. In terms of entities, let’s
assume that our output function takes 5 additienéties into consideration. In other
words, in other for us to execute that function,need some external entities that enable
us to do so. Without those entities, our functiaruld not be executed or existed. To
show that, let’s use the table bellow to list theséties, their functions and their
descriptions.

Entity Name Entity Description Entity Function
Entity 1 Description 1 Function 1
Entity 2 Description 2 Function 2
Entity 3 Description 3 Function 3
Entity 4 Description 4 Function 4
Entity 5 Description 5 Function 5

Example Number 21

From the above example, we have learned that dpubfunction is not independent. In
order for us to derive that output function, wedether entities that enable us to do so
and those entities affect the derivation of ourcfion. From the example above, we have
listed those entities and their functions. Itésywimportant to understand that, the list of
functions on the table above is general functidrthase entities. Those are not the
functions we use the entities for in our application this example, we are going to
provide more information about those entities drertfunctions in our application.

As we already known, in order for us to derive function, we need those entities to
work with. We can also say that those entitiesafbur function derivation or function
execution. Here, let’s provide a table for thosgties and their functions in our
application. In the table below, we provide adisthose entities, the description of those
entities in our application, and their functionur application.

Entity Name Description in Application | Function in Application
Entity 1 Description 1 Function 1
Entity 2 Description 2 Function 2
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Entity 3 Description 3 Function 3

Entity 4 Description 4 Function 4

Entity 5 Description 5 Function 5

Example Number 22

From the above example, we have learned that #m#ees affect our application. Since
those entities affect our application, they aff@mat basis of operation as well. The fact
that those entities weight in our application, weastrinclude them in our basis as well.
Since those entities affect our application perfamoe, we must weight each of them in
our application. In other words, we must defineeaght for each entity related to the
output of our function. The weight we give thosditees must be related to the weight of
our function, which we have identify in our godh terms of weights, let’s provide a
table of those entities and their weights in thgliaption in terms of output function.

Entity Name Function in Application Weight on Output
Entity 1 Function 1 Weight 1
Entity 2 Function 2 Weight 2
Entity 3 Function 3 Weight 3
Entity 4 Function 4 Weight 4
entity 5 function 5 Weight 5

The table above provides the weights of thoseiestih our application. It is always
better to define those weights in term of numbkateel to the basis of the application.
We use the word weight here as a number that afieatesult of the application. For
instance, assume that an entity can affect thétrefsthe application for about 5%, and
then we say this entity weight 5% in the applicatidhe table below defines some
constant weight of the entities related to the igptibn.

Entity Name Function in Application Weight on Application
Entity 1 Function 1 5%
Entity 2 Function 2 2%
Entity 3 Function 3 3%
Entity 4 Function 4 7%
Entity 5 Function 5 3%

From the above table, if we look at the total weigfthe entities in the application, we
can see that they combine to a weight of 20%.therowvords, those entities weight 20%
on the application. The 20% number is how thetiestcan affect the application.

Example Number 23

Now that we know the entities weight on the appicraand they can affect the
application up to 20%, we must include that weightur basis related to our function.
Our instant goal is %2, while our long time goal@)%. The 20% number will affect our
instant goal and we must take that into considemads well. In term of our long time
goal, those entities will be taken into considemats well every time the function is
executed. Now, let’s include the 20% effect of weaght in our instant goal. Whenever

www.speaklogic.org Copyright © 201 1The Speak Logic Project120




we use the term instant goal, it means that oueatitevel of operation related to our
basis. By taking the 20% number into consideratias can represent our function
related to the basis as shown on the graph below.

i4—-———— - —

time

Example Number 24

Now that we execute our new function and we haverg good understanding of our
basis, our principle of operation, and our appia@atwe can then now show our function
related to our level of understanding. In otherdgoit is worthwhile now to show our
function related to our level of understandinghia theory scale. Using the diagram
below, we show our level of understanding of thesguplication related to our function.
We can use any number to show our understandingnaf we are doing related to our
function execution. We already knew that the thiesmale does not have any limit, so we
can use any number and they don’t mean much o pagemputer screen. Below we
simply use a number of 5, but any number we wighccbave been use. Keep in mind
that, this number is related to how well we undardtour principle of operation related
to our basis.

u(t)

Example Number 25
While we have used as our theory to derive the method, depend on hewoaked at
the theoremslT could have been used instead. The way to logkwhile we have

usedT as our baseline to get the theorems to derive #thad, depend how we looked
the theorems, we could have usle|dnstead. In this case we could have simply used

ITto do the same thing. As we become familiar whigoty in general and understand

our utilization theory, we will see it is possilita us to do everything within the given
set. Let’s say it again; as we become familiahweiir instrumentation theory for
instance, we will discover that it is possible @isrto derive methods from it by using it.
The way to look at it, while we use the word theiorgeneral to provide explanation, as
we get familiar ourselves with theory and idengfion of theory, we would not have any
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problem to refer to a theory by its specific nanethis case, we would not have any
problem as well to identify theorems and determwvhéh theories they belong to.

From what we have just said above, by using ourungentation theory to derive the
methods, the diagrams would have been changee toltbwing. In this case, we
assume that the people in the project allocateréime® from the theory of instrumentation
to derive the functions. The table below showsallerated theorems and the function
for each person. The diagram below shows the ofiipation of each person resulted
from the allocated theorems in instrumentation theo

Allocated Theoremsin |,

System Applying

Output Function
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Example 26

Since our function execution is related to our ustdending, we can look at our
understanding related to our basis and functioutian, which is related to our
stability. In this example, we are going to loaktee stability of people who work in the
project related to functions execution in connettim our basis.

Let’s repeat what we have said above again. Sincéunction executes related to our
understanding of what we do, which is connectealtobasis of operation, we can look
at our understanding in term of stability.

To start, let assume that we have 6 people wortkirggproject. While we show three of
the people apply theory to derive a method, thergpeople apply theory to perform
other function in the organization, but their fuoos are also connected to our functions,
but we did not show a lot of information about thBtow, we want to show the stability
level of those people related to what we are doingother words, we need to show the
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level of understanding of those people relatedhatwe are doing. We can show that in
a graphical form as shown below.

i4—————&" " - —— — - —« —« —« — — — — .

Employees

' o+ ¥ 17

While we did not put a number for each employeéwmican see that the stabilities are
not equally distributed. The way to look at ity dunction execution is related to that
stability level. To better understand the ovestdbility level, it is always good to look at
the average stability for the overall employee aflinakes sense, since the overall project
depends on all employees and each of them corgsliatthe project, the success of the
project depends on each employee individuallythis case, it is always good to look at
the average stability for the overall employees@sn by the graph below.

i4—————&" " - —— — - —« —« —« — — — — .

Employees

X % X X %5 %
Now, let's use a table to represent the name df eawployee relates to the symbol that
we use to show them on the graph. It does notemthi¢ way we show them on the
graph in terms of name. We could have used peraore, we could have also ugeéor

person as well. The table below shows the fundborach employee and symbolic
equivalent. We could have also shown the stabiity tabular format.

Employee Name Employee Function Symbol Equivalent
Employee 1 ul(t) X
Employee 2 uz(t) X,
Employee 3 us(t) X3

www.speaklogic.org Copyright © 2011The Speak Logic Project124




Employee 4 U, (t) X4

Employee 5 u5(t) X5

Employee 6 ue(t) X5

As we ca see from the graph above, the averaggitytahsome fraction ok as shown

by the graph below. The average stability is vergortant to us as well as individual
stability. We can use the individual stabilityateld to our function execution to look at
specific area of our interest. We can also usatieeage stability to look at the
performance of our function. Keep in mind that skebility does not represent much on
paper. Itis always good to think that the stap#intity is not a paper entity.

k S
The average stability is some fraction of k
? ? ? ? ? Employees
X % X % %5 %
Example 27

From the previous example, we have shown the agestapility of the employees who
work in the project or the organization. Sincelvese defined our problem statement
relatively to our basis and our principle of opematit makes sense for us now to look at
the direction of our project. Our project directis also a part of our stability. In along
term, our project direction enables us to lookwatfature function execution. As shown
from some of the previous example, we execute ungtfon at a specific time. By
having a direction for our project, we can loolkaatl approximate our application
execution in a future time.

It is very important to understand our project dilen. As a theory dependable system,
it is very important for us to have a directionnc@ we apply theory to execute functions
of life, it is very important for our function tcalie a direction. Our project is considered
to be our function. In other words, it is very ionfant to have a direction for our project,
since it enables us to continue execute our functtated to our basis and our principle
of operation.

It is very important to understand that all thebsity entities we have looked and defined
are not paper entities or computer screen appessano other words, those entities do
not represent anything on paper or on a computeesc It is very important to
understand that. Now assume that the people whk wahe project and the
organization have a good understanding of whaethes doing related to the principle of
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operation, the basis of operation, the functiorcaken, and the problem statement.
Now at time equal$,, the function execute minimally. At time equéjas shown from

the previous example, the function executes muttetbelt does not matter the way we
start or look at it; we can whatever time we wistere, we use the time we first execute
the function and successive time. By understandingt we have just said, we can
define our direction to point up. In other words have defined our direction which is
related to our function execution from our basggrating principle, problem statement,
and our understanding of the principle that we ypplexecute our function. In this case,
we can show the direction of our project, whichitaly the direction of our function by
the diagram below.

On the diagram below, we show our project direcfiom timet; to timet,. Since we

are looking at stability of our project in termdifection, it makes sense for us to use
distance mark in our direction. As shown on tregthm below, we use maako show
the first time we execute the function émtb show the second time we execute the
function. As we can see from the diagram, we laavery good understanding of what
we are doing on the first time we execute the fiomct On the second time, we did better
relatively to the first time.

As shown on the diagram below relatively to thegthan above, the first time we execute
the function, we have a very good direction of project. We are doing better in term of
our understanding of what we are doing and we naetto do better. Since we have a
very good understanding of what we are doing, weeeito do better the next time we
execute our function. Markrepresents an approximation of the third timeftimetion

will be executed. Since our function will be exeszlrelatively to our understanding, we
expect to do better next time. In this case, weaggroximate our performance later.
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Example 28

A direction cannot exist without a destination.ohder to have a direction, we must have
a destination. While we have defined our projectation from the exercise above, it
makes sense for us to define our project destimasowvell. Our project destination
defines where our project is going, while our pcojirection defines the road we take to
get to our project destination. It is very impaitéo understand the similarity between
project direction and project destination.

As a theory dependable system, it is very importantis to have a direction. As a
theory dependable system as well, it is very imgodrfor us to have a destination. The
destination of our project is related to our problgtatement, our operating principle, our
basis, and the understanding of principles thaapmy to execute our function, which is
our project. To better understand the similargyween our project direction and our
project destination, it is better to take it thatyw Our project destination defines the
execution of our function as it should be, while ptoject direction defines what we do
in a timely basis in order to execute our functidet’s repeat it again, assume that we
are working on a project to execute a functiont thaction executes as it should be is
considered to be our destination, while what we@dalually to get that function
executed is considered to be our function destinatin term of our understanding, it is
very important to take it this way. Our projecstieation is considered to be our goal,
while our project direction is considered to be e do to achieve our goal. Our
project destination is considered to be our lommtgoal, while our project direction is
considered to be what we should do continuallyctoeve our goal. In terms of our
understanding of theory and application of theoty, project destination is considered to
be our long term learning objective, while our patjdirection is considered to be our
increment learning to get to our learning goalthiis case, learning goal means, at a time
when our function executes as it should be, welveille a good understanding of the
principle that enables us to execute that functibiis always better to take it like that, at
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a time when we have good understanding of the iptaathat enables our function to
execute as it should be. The good understandiegdble the function to execute as it
should be is considered to be our destination.

As we have learned above, our project destinatiaefined by our problem statement,
our basis, our operating principle, and our un@eading of theory that we apply to
execute our function. In this case, we can useléséination entity to represent our
project destination as shown below. Since ourgatajestination is a part of our
stability, and our stability is not a paper or gibal entity, it is always good to think
that those entities are not defined on paper ompeen screen. In addition to what we
have just said, we can see that the directionyeistihe continuous understanding of the
principle that allows us to derive and executefaaction. The direction entity enables
us to continue understand the principle that wdyajgpdo what we do. By continue
understanding the theorems that we apply to do wkalo, we can say that the direction
entity provides us the direction to do what we itlprovides us the direction to our

application.

Example 29

As we have said previously, in order to have aative, we must have a destination. In
order to have a destination, we must have a dineets well. For that reason, it is always
good to show our direction and our destination tiogee Our project destination and
direction are defined relatively to our understaggiour operation principle, our problem
statement, and our basis. Since everybody who wotkee project contribute to the
project, it is always good to show those peoplé¢hendirection and the destination of the
project. The diagram below shows our project dioecand destination related to
everybody who works in the project. As we canfse the diagram, we are moving up
to our destination and we are in the right directid®Ve use the continuity mark after
three people to include more people in the projécthis case, the continuity mark
means everybody who work in the project is in igatrdirection to get the project
executed as it should be.
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Another way to better understanding the simildogyween the direction entity and the
destination entity is that, the direction entityrge us to the destination entity. For
instance, at the time we start our project or eteeour function, we cannot get to our
destination, but as we continue to execute thetimmcone day we expect to be at our
destination. So the destination is where we waubiet and our direction is what we do to
get us to our destination.

Our understanding enables us to look at our agmitan a long term basis. In along
term basis, we look at the normal execution ofapplication. In other words, in a long
term basis, we look at our function execution moamal approach. Our destination
allows us to point to normal execution of our fuoet In order to have a destination, we
must have a long term understanding of what weWdhout a long term understanding
of what we do, there is no destination. Anothey ¥easay it, without a long term
understanding of our application, our applicati@s ho destination. The usage of the
destination entity enables us to look at our apyilbny in a long term approach.

While in a project we define our direction and destination by identifying them, it is
very important to understand the process. Prdlstica real life, those entities cannot be
identified by someone for someone. Those entitiessiewed as personal entities or
personally identified entities. It is very impantdao understand that and not to take that
for granted. While we defined those entities in piwoject, but we should also keep in
mind they are personal entities. In addition t&ttive should not think differently
compare to real life or outside, when viewing thesgties. It is very important to
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understand that. The way to look at it is thatlevine may define and identify those
entities in our project or in our organization byderstanding the principle; nevertheless,
outside our organization or in real life, the sgmaciples applied, but to a higher level.
It is very important to understand that and nantsinterpret it.

Example 30

The functions that we derive and execute are deiveexecuted according to our level

of understanding. Those functions cannot be ereooit derived above our level of
understanding. That makes sense, since the tligatryhose functions depend on gives
us ideas to derive and execute those functionsethmctions cannot executed or derived
higher than those ideas.

To better understand what we have said from theeaparagraph, it is always good to
explain it related to the theory scale. Let's assuhat our level of understanding is 5,
we cannot expect to derive and execute a functi@nlével of 10. It is not possible and
practical. Assume that our level of understandsnginus 10, we cannot derive or
execute a function to a level of 10; it is not pokesand practical. We can only derive
and execute functions according to our level ofansthnding. It is not possible for us to
go above our level of understanding. It is verpamant to understand that. The
functions that we derived and executed from theipus examples are derived and
executed according to our level of understanding.
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Conclusion

Usually we model our application while we are watdkon our project. The way to look
at it, while the customers tell us they will progids with additional time to tell them how
we have completed the project, it assumes thatidveat model our application while we
were working on it. In this case, we can go bauk model what we have done. Itis
always better to model the application while wogkan it than after. For instance, if we
were going to do something, we document what wejaireg to do or what we are doing
while doing it. While we can always analyze anddelmur application after execution,
it is always better to model it before and durimga@ition.

Since we model our application to make sure welaneg everything accordingly,

during our application process, we can documentyéviag that we do. For instance, if
we apply a principle, we note it by putting it doand describe how we use it. During
our application process, each instruction we appéy/put it down and describe how we
apply it. It is very important to understand thabdcess, especially when it comes to error
and correction. By documenting and modeling oynliagtion, it is much easier for us to
identify and correct error during the process nathan after execution.
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Some Entity Characteristics Charts

Characteristic of Theory

Application

Interpretation

Relation with System

Importance

Comparison

Expandability

Relation with Theory Communication

Limitation

Presentation
Portability
Independency

Characteristic of Information

Presentation

. Importance

Relation with System
L Quality

[ Quantity

| Application

Defintion
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The Physical System Constant Characteristics

|

i v
Self Communication Theocriy Associativity Reproductivity
Controllable Enabled Dependency

Problem Development

Related to Theory| Disregard Application of Theory

L Disregard Theory and System Relationship

| Disregard Importance of Theory

L Error in Presentation of Theory

| Disregard Relationship with Theory of Communication
L Error in Interpretation of Theory

| Disregard Independency of Theory

| Disregarding Portability of Theory

L Expandability of Philosophy

Related to Instrument| Misapplication of Instrument
| Utilization of Bad Instrument
| Disregarding Instrument and System Relationship

Related to System | Disregard System and System Relationship
| Disregard Function and System Relationship

Related to Method | Misapplication of Method
| Application of Bad Method
| Disregard Method and System Relationship
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Problem Solution

Related to Theory | Regard Application of Theory

L Regard Theory and System Relationship

L Regard Importance of Theory

| Regard Presentation of Theory

| Regard Relationship with Theory Communication
| Regard Interpretation of Theory

[ Regard Independencity of Theory

L Regard Portability of Theory

| Regard Expandability of Theory

Related to Instrument | Regard Application of Instrument
[ Regard Utilization of Good Instrument
| Regard Instrument and System Relationship

Related to System | Regard System and System Relationship
L Regard Function and System Relationship

Related to Method | Regard Application of Method
| Regard Application of Good Method
L Regard Method and System Relationship
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Problem In Sentence

Related to Theory | Disregard Application of Theory

L Disregard Theory and System Relationship

L Disregard Importance of Theory

L Error in Presentation of Theory

L Disregard Relationship with Theory of Communication
Error in Interpretation of Theory

L Disregard Independencity of Theory

L Disregarding Portability of Theory

| Expandability of Philosophy

[ Misapplication of Instrument
L Utilization of Bad Instrument
| Disregarding Instrument and System Relationship

Related to System | Disregard System and System Relationship
| Disregard Function and System Relationship

Related to Method| Misapplication of Method
L Application of Bad Method
L Disregard Method and System Relationship
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Possible Correction

Related to Theory | Application of Theory

_Theory and System Relationship

| Importance of Theory

| Presentation of Theory

| Relationship with Theory of Communication
|__Interpretation of Theory

| Independencity of Theory

| Portability of Theory

| Expandability of Theory

Related to Instrument | Application of Instrument
| Utilization of Good Instrument

| Instrument and System Relationship

Related to System [  System and System Relationship

| Function and System Relationship

Related to Method [  Application of Method
| Application of Good Method
| Method and System Relationship
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Sentence Analysis

Problem

Information

Power

| Definition

Identification

| Presentation
| Importance
| Quality

[ Quantity

| Application
| Definition

| Portabilty

| Relation with System

| Power

Problem Development Chart

Problem

v

Misinterpretation o theory

d of Method

d of Instrument

v

In a System

By a System Against/to a System

ol I

By a System In a System Against'to a System By a System

Problem Solution Chart

Solution

Ina System Against/to a System

Interpretation of Theory

Application of Method

Application of Instrument

In a System By a System

www.speaklogic.org

To a System

Voo

By a System In a System To a System

By a System

In a System To a System
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Characteristic of a Given Reference

— Must be applicable

—— Must have a relationship with our system
—— Must have a relationship with communication
——— Must be incomparable

—— Must be independent

——— Must be interpretable

— Must be important

— Must be expandable

[~ Must be presentable

| Must be portable

—— Must not be limited

—— Must have a fundamental
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Exercises

For some of us who may have questions about theimgamessages, the following
exercises can be used to verify our understanditigegorinciples. By having a good
understanding of the principles, there should bpmoblem or ambiguity to verity the
warning messages. Also, people who have a gooerstachding of the principles and
who have worked out various exercise from the begumto the end of the book, should
have no problem with the error messages. The stat&ting of those error messages can
be used as a verification to determine whetheobthe principles is understood. For
some of us who have some difficulty to understdra$é error messages, turn them off
and start working some exercises from the begintarige end of the fundamental of
communication book.

Since any entity can be used according to any ahesexercises are not in order in
terms of weights. We can do whatever we think waeustand and leave the rest later.
As we make progress learning and understandingrtheiples, then we can move to do
the ones that we have left out.
1. Verity that a theory cannot be deleted
2. Show that a theory cannot be copied
3. Show that a theorem cannot be deleted
4. Show that the given documentation of a system dammedited. This is the same
as saying; verify that the functional principleso$ystem cannot be edited. So if
you want to, you can work it out like that. Shdwattthe functional principle of a
system cannot be edited.

5. Show that a given system theory cannot be editexi don’t have to work this
one out, depend how you have worked out the oneeabo

6. Show that a theory cannot be edited

7. Show that a theorem cannot be edited or deleted

8. Show that a domain cannot be deleted and copied

9. Verify that a domain cannot be rotated or flipped

10. Verify that the given set cannot be deleted or edpi

11. Verify that the physical system cannot be deleteti@pied

12.Show that a philosophy cannot deleted
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13. Verify that a function cannot be deleted or erasitel being added to life
14.Show that the fundamental of our utilization theoaynot be deleted or copied
15. Verify that a given destination cannot be deleted

16. Show that a given destination cannot be copied

17.Verify that a given direction cannot be deleted

18.show that a given direction cannot be copied

19. Verify that a reference cannot be edited. If yanwo, you can provide a
practical example.

20. Show that a theory cannot be composed

21.Show that a theory cannot be decomposed

22.Verify that a theorem cannot be composed

23.Verify that a theorem cannot be decomposed

24.Show that an instrument cannot be deleted or copied

25.Show that a theory cannot be rotated

26. Verify that a theorem cannot be rotated

27.Provide some explanation of your understand ofunsént and rotation. From
your understanding, you might need to look at rotaetrom your understanding
of instrument determine whether or not an instrunsan be rotated.

28.Show that an instrument cannot be composed. $nclse, you might need to
look at the process of deriving instrument andfygrour understanding

accordingly.

29.1f you want to, you can use the above exerciselzsaline to determine that a
method cannot be composed.

30.Depend how you do the two exercises above, if yaotwo you may need to do
this one by showing your understanding of instrunaga method related to the
derivative entity and show whether or not instruteemm methods can be
composed or decomposed.

31. Show that the function of an instrument cannot életéd or copied.
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32.Verify that a function container cannot be deletedopied

33. Show that the functional system cannot be deletedpied

34. Show that the functional system cannot be compasddiecomposed

35. Verify that the downhill process cannot be deleiedopied

36. Show that the uphill process cannot be deletedpied

37.Determine that the uphill process and the dowmindcess cannot be rotated

38. Verify that the theory scale or the theory applaascale cannot be deleted or
copied

39. Show that the theory scale or the theory applicagitale cannot be composed or
decomposed

40. Show that the basis of a function execution cabeadeleted or copied. This can
be viewed as the same as saying show that the dfasis function execution or
the basis of our operation cannot be deleted aedop

41.Verify that the basis of a function execution cano® composed or decomposed.

42.By understanding expandability of theory, it carshewn that the expansion of a
theory cannot be deleted. Verify that statemengther words, verify that the
expansion of a theory cannot be deleted.

43.Show that the downhill time cannot be deleted qied

44.Verify that the downhill time cannot be composed decomposed

45. Show that the uphill time cannot be deleted or edpi

46. Show that the distance mark cannot be deletedmedo

47.From the exercise above, you can also show thatande cannot be deleted or
copied. Also show that the distance cannot be csexgb or decomposed as well.

48. Show that a gain cannot be copied or deleted
49. Verify that a lost cannot be copied or deleted

50. Show that a gain cannot be composed and decompose
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51. Verify that a lost cannot be composed and decontpose

52.Verify that a natural element cannot be copiededeted

53. Show that a natural element cannot be composedesamposed

54.Determine whether or not it is possible to grouppge with theory and why.
This is the same as saying that, verify whetheratiit is possible to group the

physical system with the theory entity and why.

55. Determine whether or not it is possible to groygeeson with a theorem and why.
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